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The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827020857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827082541. 1
87827082542. 2
87827082543. 3

87827082544. 4

Question Number : 2 Question Id : 87827020858 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827082545. 1
87827082546. 2
87827082547. 3

87827082548. 4

Question Number : 3 Question Id : 87827020859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827082549. 1
87827082550. 2
87827082551. 3

87827082552. 4

Question Number : 4 Question Id : 87827020860 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827082553. 1
87827082554. 2
87827082555. 3

87827082556. 4

Question Number : 5 Question Id : 87827020861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827082557. 1
87827082558. 2
87827082559. 3
87827082560. 4



Question Id : 87827020856 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827020857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2020 H B3 &9 2018 & &9 § fehdd % Af¥eh g2

(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827082541. 1



87827082542. 2
87827082543. 3

87827082544. 4

Question Number : 2 Question Id : 87827020858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4) 230.936
Options :
87827082545. 1
87827082546. 2
87827082547. 3

87827082548. 4

Question Number : 3 Question Id : 87827020859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827082549. 1
87827082550. 2
87827082551. 3

87827082552. 4

Question Number : 4 Question Id : 87827020860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082553. 1
87827082554. 2
87827082555. 3

87827082556. 4

Question Number : 5 Question Id : 87827020861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 2208
(2) 2364
(3) 2522
(4) 246.6

Options :



87827082557. 1
87827082558. 2
87827082559. 3

87827082560. 4

Sub-Section Number : 2
Sub-Section Id : 878270930
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827020862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827082561. 1
87827082562. 2
87827082563. 3
87827082564. 4

Question Number : 6 Question Id : 87827020862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082561. 1
87827082562. 2

87827082563. 3
87827082564. 4

Question Number : 7 Question Id : 87827020863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827082565. 1
87827082566. 2

87827082567. 3



87827082568. 4

Question Number : 7 Question Id : 87827020863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082565. 1
87827082566. 2
87827082567. 3

87827082568. 4

Question Number : 8 Question Id : 87827020864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270825609. 1

87827082570. 2

87827082571. 3

87827082572. 4

Question Number : 8 Question Id : 87827020864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082569. 1
87827082570. 2
87827082571.3

87827082572. 4

Question Number : 9 Question Id : 87827020865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827082573. 1

87827082574 2

87827082575. 3

87827082576. 4

Question Number : 9 Question Id : 87827020865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082573. 1
87827082574. 2
87827082575. 3

87827082576. 4

Question Number : 10 Question Id : 87827020866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4) (A} s not correct but (R) is correct

Options:

87827082577. 1

87827082578. 2

87827082579. 3

87827082580. 4

Question Number : 10 Question Id : 87827020866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



87827082577.1
87827082578. 2
87827082579. 3

87827082580. 4

Question Number : 11 Question Id : 87827020867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827082581. 1
87827082582. 2
87827082583. 3

87827082584. 4

Question Number : 11 Question Id : 87827020867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082581. 1
87827082582. 2
87827082583. 3
87827082584. 4

Question Number : 12 Question Id : 87827020868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827082585. 1

87827082586. 2



87827082587. 3
87827082588. 4

Question Number : 12 Question Id : 87827020868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082585. 1
87827082586. 2
87827082587. 3

87827082588. 4

Question Number : 13 Question Id : 87827020869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827082589. 1
87827082590. 2
87827082591. 3

87827082592. 4

Question Number : 13 Question Id : 87827020869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082589. 1

87827082590. 2

87827082591. 3
87827082592. 4

Question Number : 14 Question Id : 87827020870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827082593. 1
87827082594. 2
87827082595. 3

87827082596. 4

Question Number : 14 Question Id : 87827020870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082593. 1
87827082594. 2
87827082595. 3

87827082596. 4

Question Number : 15 Question Id : 87827020871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827082597. 1
87827082598 2

87827082599. 3



87827082600. 4

Question Number : 15 Question Id : 87827020871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082597. 1

87827082598. 2

87827082599. 3

87827082600. 4

Question Number : 16 Question Id : 87827020872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827082601. 1
87827082602. 2

87827082603. 3



87827082604. 4

Question Number : 16 Question Id : 87827020872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082601. 1
87827082602. 2
87827082603. 3

87827082604. 4

Question Number : 17 Question Id : 87827020873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827082605. 1
87827082606. 2

87827082607. 3



87827082608. 4

Question Number : 17 Question Id : 87827020873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082605. 1
87827082606. 2
87827082607. 3

87827082608. 4

Question Number : 18 Question Id : 87827020874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270826009. 1
87827082610. 2
87827082611. 3

87827082612. 4

Question Number : 18 Question Id : 87827020874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082609. 1
87827082610. 2
87827082611.3

87827082612. 4

Question Number : 19 Question Id : 87827020875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827082613. 1
87827082614. 2
87827082615. 3
87827082616. 4

Question Number : 19 Question Id : 87827020875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827082613. 1
87827082614. 2
87827082615. 3

87827082616. 4

Question Number : 20 Question Id : 87827020876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827082617. 1

87827082618. 2

87827082619. 3

87827082620. 4

Question Number : 20 Question Id : 87827020876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
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(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827082617. 1
87827082618. 2
87827082619. 3

87827082620. 4

Question Number : 21 Question Id : 87827020877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827082621. 1
87827082622. 2
87827082623.3

87827082624. 4

Question Number : 21 Question Id : 87827020877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827082621. 1
87827082622. 2
87827082623.3
87827082624. 4

Question Number : 22 Question Id : 87827020878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827082625. 1
87827082626. 2
87827082627.3

87827082628. 4

Question Number : 22 Question Id : 87827020878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827082625. 1
87827082626. 2
87827082627.3
87827082628. 4

Question Number : 23 Question Id : 87827020879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827082629. 1
87827082630. 2
87827082631.3

87827082632. 4

Question Number : 23 Question Id : 87827020879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827082629. 1
87827082630. 2
87827082631.3
87827082632. 4

Question Number : 24 Question Id : 87827020880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827082633. 1
87827082634. 2
87827082635. 3

87827082636. 4

Question Number : 24 Question Id : 87827020880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ST e TRt T e 1 AR oY G @ W ¢

(954 : 21/2 =1414, 21/4=11892)

(1) ~14.9%

(2) ~16.8%
(3) ~18.9%
(4) ~12.9%
Options:
87827082633. 1
87827082634. 2
87827082635. 3

87827082636. 4

Question Number : 25 Question Id : 87827020881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827082637. 1
87827082638. 2
87827082639. 3
87827082640. 4

Question Number : 25 Question Id : 87827020881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827082637. 1
87827082638. 2
87827082639. 3

87827082640. 4

Question Number : 26 Question Id : 87827020882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827082641. 1



87827082642. 2
87827082643. 3

87827082644. 4

Question Number : 26 Question Id : 87827020882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082641. 1
87827082642. 2
87827082643. 3
87827082644. 4

Question Number : 27 Question Id : 87827020883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827082645. 1
87827082646. 2
87827082647. 3

87827082648. 4

Question Number : 27 Question Id : 87827020883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827082645. 1
87827082646. 2
87827082647. 3

87827082648. 4

Question Number : 28 Question Id : 87827020884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827082649. 1

87827082650. 2



87827082651. 3

87827082652. 4

Question Number : 28 Question Id : 87827020884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827082649. 1
87827082650. 2
87827082651. 3

87827082652. 4

Question Number : 29 Question Id : 87827020885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827082653. 1
87827082654. 2
87827082655. 3

87827082656. 4

Question Number : 29 Question Id : 87827020885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827082653. 1
87827082654. 2
87827082655. 3

87827082656. 4

Question Number : 30 Question Id : 87827020886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827082657. 1
87827082658. 2
87827082659. 3
87827082660. 4

Question Number : 30 Question Id : 87827020886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082657. 1

87827082658. 2

87827082659. 3

87827082660. 4

Question Number : 31 Question Id : 87827020887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827082661. 1

87827082662. 2

87827082663. 3

87827082664. 4



Question Number : 31 Question Id : 87827020887 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fgdiorer HogeX JYeRU &1 qor §, Wi ser
(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|
(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :
87827082661. 1
87827082662. 2

87827082663. 3
87827082664. 4

Question Number : 32 Question Id : 87827020888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827082665. 1
87827082666. 2

87827082667. 3



87827082668. 4

Question Number : 32 Question Id : 87827020888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827082665. 1
87827082666. 2
87827082667. 3

87827082668. 4

Question Number : 33 Question Id : 87827020889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827082669. 1



87827082670. 2
87827082671. 3

87827082672. 4

Question Number : 33 Question Id : 87827020889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827082669. 1
87827082670. 2
87827082671. 3
87827082672. 4

Question Number : 34 Question Id : 87827020890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827082673. 1
87827082674. 2
87827082675. 3
87827082676. 4

Question Number : 34 Question Id : 87827020890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) TR R 3, T R 1 2



Options :

87827082673. 1
87827082674. 2
87827082675. 3

87827082676. 4

Question Number : 35 Question Id : 87827020891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827082677. 1
87827082678. 2
87827082679. 3

87827082680. 4



Question Number : 35 Question Id : 87827020891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827082677. 1
87827082678. 2
87827082679. 3

87827082680. 4

Question Number : 36 Question Id : 87827020892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827082681. 1
87827082682. 2
87827082683. 3

87827082684. 4

Question Number : 36 Question Id : 87827020892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082681. 1
87827082682. 2
87827082683. 3

87827082684. 4

Question Number : 37 Question Id : 87827020893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827082685. 1



87827082686. 2
87827082687. 3

87827082688. 4

Question Number : 37 Question Id : 87827020893 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827082685. 1
87827082686. 2
87827082687. 3

87827082688. 4

Question Number : 38 Question Id : 87827020894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827082689. 1
87827082690. 2
87827082691. 3

87827082692. 4

Question Number : 38 Question Id : 87827020894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s
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Options :

87827082689. 1
87827082690. 2
87827082691. 3
87827082692. 4

Question Number : 39 Question Id : 87827020895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827082693. 1
87827082694. 2
87827082695. 3

87827082696. 4

Question Number : 39 Question Id : 87827020895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082693. 1

87827082694. 2

87827082695. 3

87827082696. 4

Question Number : 40 Question Id : 87827020896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827082697. 1
87827082698. 2
87827082699. 3

87827082700. 4

Question Number : 40 Question Id : 87827020896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082697. 1

87827082698. 2

87827082699. 3

87827082700. 4

Question Number : 41 Question Id : 87827020897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827082701. 1

87827082702. 2

87827082703. 3

87827082704. 4

Question Number : 41 Question Id : 87827020897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082701. 1

87827082702. 2

87827082703. 3
87827082704. 4

Question Number : 42 Question Id : 87827020898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827082705. 1
87827082706. 2
87827082707.3

87827082708. 4

Question Number : 42 Question Id : 87827020898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827082705. 1
87827082706. 2
87827082707.3
87827082708. 4

Question Number : 43 Question Id : 87827020899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

87827082709. 1
87827082710. 2
87827082711.3

87827082712. 4

Question Number : 43 Question Id : 87827020899 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fa T it e o R fovafeenera S7qc o g ot o § @i-8 e s 47
(A) T3 AT T A R |

(B) R R TN H G|

(C) Tovalomme & el @ & gfg|

(D) fovalfaerdi ¥ foreh ot 7 Faoe e a1 e el fe T

(E) o o 9ot vl o <ot syonel & oreen o) 1 v 1 tfemes e v
1 T T Farredl W0 3R o A I

(1) % (4),(B) RO

() % @) (C) MO

() ¥ () [0) ()

(4 (4), (0) (B

Options :

87827082709. 1

87827082710. 2

87827082711.3

87827082712. 4

Question Number : 44 Question Id : 87827020900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827082713. 1
87827082714. 2
87827082715.3

87827082716. 4

Question Number : 44 Question Id : 87827020900 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827082713. 1
87827082714. 2
87827082715.3

87827082716. 4

Question Number : 45 Question Id : 87827020901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827082717. 1

87827082718. 2

87827082719. 3

87827082720. 4

Question Number : 45 Question Id : 87827020901 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082717. 1
87827082718. 2
87827082719.3
87827082720. 4

Sub-Section Number : 3
Sub-Section Id : 878270931
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827020902 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827020903 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827082721.1
87827082722. 2
87827082723. 3

87827082724. 4

Question Number : 47 Question Id : 87827020904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827082725. 1

87827082726. 2



87827082727.3

87827082728. 4

Question Number : 48 Question Id : 87827020905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827082729. 1
87827082730. 2
87827082731. 3

87827082732. 4

Question Number : 49 Question Id : 87827020906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827082733. 1
87827082734. 2
87827082735. 3
87827082736. 4

Question Number : 50 Question Id : 87827020907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827082737. 1



87827082738. 2
87827082739. 3

87827082740. 4

Question Id : 87827020902 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827020903 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T a1 i 9 Fgl W Y R e T 0 o ey T YA T 9 ¢/
(A) oA

(B) et T H

(C) R, foerer o 9 el o

(D) e §HE |

(E) U4 3 Siete 3 1 7Y &

e feu T foepedt H 9 e S A T Hifw

(1) % (A) R )

2) 9 (A), (D) R (B

() ¥ (C) M (E)
(4) T (A) T (B)
Options :
87827082721. 1
87827082722. 2

87827082723. 3

87827082724. 4

Question Number : 47 Question Id : 87827020904 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827082725. 1



87827082726. 2
87827082727. 3

87827082728. 4

Question Number : 48 Question Id : 87827020905 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082729. 1
87827082730. 2
87827082731.3

87827082732. 4

Question Number : 49 Question Id : 87827020906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082733. 1
87827082734. 2
87827082735. 3

87827082736. 4

Question Number : 50 Question Id : 87827020907 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827082737. 1

87827082738. 2

87827082739. 3
87827082740. 4

Spanish
Section Id : 878270677
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270932



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827020908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

El héroe del Poema del Mio Cid es un personaje historico de la segunda mitad del siglo XI que se llama:
1. Alfonsa X, el sabio
2. Fernando VI
3. Ramon Lulio
4. Rodrigo Diaz de Vivar
Options :
87827082741. 1
87827082742. 2
87827082743. 3

87827082744. 4

Question Number : 51 Question Id : 87827020908 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

El héroe del Poema del Mio Cid es un personaje historico de la segunda mitad del siglo XI que se llama:
1. Alfonsa X, el sabio
2. Fernando VI
3. Ramon Lulio
4. Rodrigo Diaz de Vivar
Options :
87827082741. 1
87827082742. 2

87827082743. 3



87827082744. 4

Question Number : 52 Question Id : 87827020909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La conquista de América dio lugar a la siguiente obra épica:
1. Cantar de los nibelungos

2. Poema de Gilgamesh

3. La Araucana

4. Cantar de Mio Cid

Options :

87827082745. 1
87827082746. 2
87827082747. 3

87827082748. 4

Question Number : 52 Question Id : 87827020909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La conquista de América dio lugar a la siguiente obra épica:
1. Cantar de los nibelungos

2. Poema de Gilgamesh

3. La Araucana

4. Cantar de Mio Cid

Options :

87827082745. 1
87827082746. 2
87827082747. 3

87827082748. 4



Question Number : 53 Question Id : 87827020910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La siguiente obra es considerada la primera del género “nivola” que Unamuno acufio:
1. La Colmena

2. Don Quijote de la Mancha

3. Niebla

4. La Celestina

Options :

87827082749. 1
87827082750. 2
87827082751.3
87827082752. 4

Question Number : 53 Question Id : 87827020910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La siguiente obra es considerada la primera del género “nivola” que Unamuno acufio:
1. La Colmena

2. Don Quijote de la Mancha

3. Niebla

4, La Celestina

Options:

87827082749. 1
87827082750. 2
87827082751.3
87827082752. 4



Question Number : 54 Question Id : 87827020911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los pacientes del doctor Garcia es la novela escrita por:
1. Camilo José Cela

2. Almudena Grandes

3. Miguel Delibes

4. Miguel Hernandez

Options:

87827082753. 1
87827082754. 2
87827082755. 3

87827082756. 4

Question Number : 54 Question Id : 87827020911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los pacientes del doctor Garcia es la novela escrita por:
1. Camilo José Cela

2. Almudena Grandes

3. Miguel Delibes

4. Miguel Hernandez

Options:

87827082753. 1
87827082754. 2
87827082755. 3

87827082756. 4

Question Number : 55 Question Id : 87827020912 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La siguiente es la caracteristica de la poesia de Blas de Otero:
1. La poesia desarraigada

2. La poesia desnuda

3. La poesia negra

4. La poesia épica

Options :

87827082757. 1
87827082758. 2
87827082759. 3

87827082760. 4

Question Number : 55 Question Id : 87827020912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La siguiente es la caracteristica de la poesia de Blas de Otero:
1. La poesia desarraigada

2. La poesia desnuda

3. La poesia negra

4. La poesia épica

Options :

87827082757. 1
87827082758. 2
87827082759. 3
87827082760. 4

Question Number : 56 Question Id : 87827020913 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La novela grafica Arrugas es escrita por
1. La dibujante Raquel Riba Rossy
2. El dibujante Paco Roca
3. La Pintora Maruja Mallo
4. El guionista Carlos Saura
Options :
87827082761. 1
87827082762. 2
87827082763. 3

87827082764. 4

Question Number : 56 Question Id : 87827020913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La novela grafica Arrugas es escrita por
1. La dibujante Raquel Riba Rossy
2. El dibujante Paco Roca
3. La Pintora Maruja Mallo
4. El guionista Carlos Saura
Options :
87827082761. 1
87827082762. 2
87827082763. 3

87827082764. 4

Question Number : 57 Question Id : 87827020914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

“Casarse prontoy mal” y “El castellano viejo” son articulos de costumbres escritos por
1. Mariano José de Larra

2. Duque de Rivas

3. Manuel Bretdn de los Herreros

4, Joseé Zorrilla

Options :

87827082765. 1
87827082766. 2
87827082767.3

87827082768. 4

Question Number : 57 Question Id : 87827020914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Casarse prontoy mal” y “El castellano viejo” son articulos de costumbres escritos por
1. Mariano José de Larra

2. Duque de Rivas

3. Manuel Bretdn de los Herreros

4. Joseé Zorrilla

Options :

87827082765. 1
87827082766. 2
87827082767. 3

87827082768. 4

Question Number : 58 Question Id : 87827020915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cuando un espafiol hace el gesto de arrugar o fruncir el cefio, eso muestra
1. indiferencia

2. enfado

3. empatia

4. afecto

Options:

87827082769. 1
87827082770. 2
87827082771.3

87827082772. 4

Question Number : 58 Question Id : 87827020915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cuando un espafiol hace el gesto de arrugar o fruncir el cefio, eso muestra
1. indiferencia

2. enfado

3. empatia

4. afecto

Options :

87827082769. 1
87827082770. 2
87827082771.3
87827082772. 4

Question Number : 59 Question Id : 87827020916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Manuel Vicent colabora en el diario espafiol El Pais y es escritor de la siguiente novela:
1. La Regenta

2. Balada de Cain

3. El si de las nifias

4. £l corazon helado

Options:

87827082773. 1
87827082774. 2
87827082775.3

87827082776. 4

Question Number : 59 Question Id : 87827020916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Manuel Vicent colabora en el diario espafiol El Pais y es escritor de la siguiente novela:
1. La Regenta

2. Balada de Cain

3. El si de las nifias

4. £l corazon helado

Options :

87827082773. 1
87827082774. 2
87827082775.3
87827082776. 4

Question Number : 60 Question Id : 87827020917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Desde 2010 la RAE avala los siguientes documentos como los primeros documentos en los que aparecen
palabras escritas en castellano:
1. Glosas emilianenses
2. Cartularios de Valpuesta
3. Jarchas
4, Cantar del Mio Cid
Options:
87827082777. 1
87827082778. 2
87827082779. 3

87827082780. 4

Question Number : 60 Question Id : 87827020917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Desde 2010 [a RAE avala los siguientes documentos como los primeros documentos en los que aparecen
palabras escritas en castellano:
1. Glosas emilianenses
2. Cartularios de Valpuesta
3. Jarchas
4, Cantar del Mio Cid
Options :
87827082777. 1
87827082778. 2
87827082779. 3

87827082780. 4

Question Number : 61 Question Id : 87827020918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

La pelicula espafiola “La lengua de las mariposas” que gand el premio Goya en 2000 tiene como eje el
siguiente tema:
1. la guerra civily la libertad de expresion
2. el medioambiente y el desarrollo sostenible
3.¢l amory la muerte
4, la familia y el exilio
Options :
87827082781. 1
87827082782. 2
87827082783. 3

87827082784. 4

Question Number : 61 Question Id : 87827020918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La pelicula espafiola “La lengua de las mariposas” que gand el premio Goya en 2000 tiene como eje el
siguiente tema:
1. la guerra civily la libertad de expresion
2. el medioambiente y el desarrollo sostenible
3.¢el amory la muerte
4, la familia y el exilio
Options :
87827082781. 1
87827082782. 2
87827082783. 3

87827082784. 4

Question Number : 62 Question Id : 87827020919 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La siguiente pelicula gand el Premio Oscar:
1. Roma
2. Volver
3. Ocho apellidos vascos
4. Pepi, Luci, Bom y otras chicas del monton
Options :
87827082785. 1
87827082786. 2
87827082787. 3

87827082788. 4

Question Number : 62 Question Id : 87827020919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La siguiente pelicula gand el Premio Oscar:
1. Roma

2. Volver

3. Ocho apellidos vascos

4. Pepi, Luci, Bom y otras chicas del monton

Options :

87827082785. 1
87827082786. 2
87827082787. 3

87827082788. 4

Question Number : 63 Question Id : 87827020920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

éQuién escribiod la novela El amante bilinglie?
1. Federico Garcia Lorca

2. Juan Marsé

3. Ramoén Gomez de la Serna

4. Luis Cernuda

Options :

87827082789. 1
87827082790. 2
87827082791.3

87827082792. 4

Question Number : 63 Question Id : 87827020920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

éQuién escribio la novela El amante bilinglie?
1. Federico Garcia Lorca

2. Juan Marsé

3. Ramon Gomez de la Serna

4. Luis Cernuda

Options :

87827082789. 1
87827082790. 2
87827082791. 3

87827082792. 4

Question Number : 64 Question Id : 87827020921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La cumbre mas alta de Espafia es
1. Maladeta

2. Monte Perdido

3. Veleta

4. Teide

Options:

87827082793. 1
87827082794. 2
87827082795. 3

87827082796. 4

Question Number : 64 Question Id : 87827020921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La cumbre mas alta de Espafia es
1. Maladeta

2. Monte Perdido

3. Veleta

4. Teide

Options :

87827082793. 1
87827082794. 2
87827082795. 3
87827082796. 4

Question Number : 65 Question Id : 87827020922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



El periodista y escritor espafiol Juan José Millas escribio la siguiente novela:
1. La soledad era esto

2. Las edades de Lulu

3. Soledades

4. La edad de oro

Options:

87827082797. 1
87827082798. 2
87827082799. 3

87827082800. 4

Question Number : 65 Question Id : 87827020922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

El periodista y escritor espafiol Juan José Millas escribio la siguiente novela:
1. La soledad era esto

2. Las edades de Lulu

3. Soledades

4. La edad de oro

Options :

87827082797. 1
87827082798. 2
87827082799. 3
87827082800. 4

Question Number : 66 Question Id : 87827020923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢A qué periodo pertenece la escultura Dama de Elche?
1. Griego

2. Fenicio

3. Romano

4. lbero

Options:

87827082801. 1
87827082802. 2
87827082803. 3
87827082804. 4

Question Number : 66 Question Id : 87827020923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢A qué periodo pertenece la escultura Dama de Elche?
1. Griego

2. Fenicio

3. Romano

4. lbero

Options :

87827082801. 1
87827082802. 2
87827082803. 3
87827082804. 4

Question Number : 67 Question Id : 87827020924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



El teatro de Mérida fue construido por los:
1. romanos

2. griegos

3. visigodos

4. musulmanes

Options:

87827082805. 1
87827082806. 2
87827082807. 3
87827082808. 4

Question Number : 67 Question Id : 87827020924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

El teatro de Mérida fue construido por los:
1. romanos

2. griegos

3. visigodos

4. musulmanes

Options :

87827082805. 1
87827082806. 2
87827082807. 3
87827082808. 4

Question Number : 68 Question Id : 87827020925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Quién escribio “El Arte de la lengua castellana”?
1. Lope de Vega

2. Antonio de Nebrija

3. Calderdon de La Barca

4. Fernando Lafuente

Options:

87827082809. 1
87827082810. 2
87827082811.3
87827082812. 4

Question Number : 68 Question Id : 87827020925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Quién escribid “El Arte de la lengua castellana”?
1. Lope de Vega

2. Antonio de Nebrija

3. Calderdon de La Barca

4. Fernando Lafuente

Options :

87827082809. 1
87827082810. 2
87827082811.3
87827082812. 4

Question Number : 69 Question Id : 87827020926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Cual es la lengua mas antigua de Espana?
1. El Vasco

2. El Catalan

3. El Gallego

4. El Castellano

Options:

87827082813. 1
87827082814. 2
87827082815. 3

87827082816. 4

Question Number : 69 Question Id : 87827020926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Cual es la lengua mas antigua de Espaha?
1. El Vasco

2. El Catalan

3. El Gallego

4. El Castellano

Options :

87827082813. 1
87827082814. 2
87827082815. 3
87827082816. 4

Question Number : 70 Question Id : 87827020927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Quién es Fernando Savater?
1. Cantante

2. Bailador

3. Filosofo

4. Gramatico

Options:

87827082817. 1
87827082818. 2
87827082819. 3

87827082820. 4

Question Number : 70 Question Id : 87827020927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Quién es Fernando Savater?
1. Cantante

2. Bailador

3. Filosofo

4. Gramatico

Options :

87827082817. 1
87827082818. 2
87827082819. 3
87827082820. 4

Question Number : 71 Question Id : 87827020928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Quién es Severo Ochoa?
1. Novelista

2. Pintor

3. Cientifico

4. Escultor

Options:

87827082821. 1
87827082822. 2
87827082823.3
87827082824. 4

Question Number : 71 Question Id : 87827020928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Quién es Severo Ochoa?
1. Novelista

2. Pintor

3. Cientifico

4. Escultor

Options :

87827082821. 1
87827082822. 2
87827082823.3
87827082824. 4

Question Number : 72 Question Id : 87827020929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Pedro Almodovar dirigio la siguiente pelicula:
1. Criacuervos
2. Mujeres al borde de un atague de nervios
3. Elisa, vida mia
4. Ocho apellidos vascos

Options :

87827082825. 1

87827082826. 2

87827082827. 3

87827082828. 4

Question Number : 72 Question Id : 87827020929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Pedro Almodovar dirigio la siguiente pelicula:
1. Criacuervos
2. Mujeres al borde de un atague de nervios
3. Elisa, vida mia
4. Ocho apellidos vascos

Options :

87827082825. 1

87827082826. 2

87827082827. 3

87827082828. 4

Question Number : 73 Question Id : 87827020930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Cuando se aprobo la Constitucion actual de Espafia?
1.1898
2.1978
3.1998
4.2008

Options:

87827082829. 1
87827082830. 2
87827082831.3
87827082832. 4

Question Number : 73 Question Id : 87827020930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Cuando se aprobo la Constitucion actual de Espafia?
1.1898
2.1978
3.1998
4. 2008

Options :

87827082829. 1
87827082830. 2
87827082831.3
87827082832. 4

Question Number : 74 Question Id : 87827020931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Parque Guell es |la creacion de:
1. Chillida

2. Tapies

3. Gaudi

4. Picasso

Options:

87827082833. 1
87827082834. 2
87827082835. 3
87827082836. 4

Question Number : 74 Question Id : 87827020931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Parque Glell es la creacion de:
1. Chillida

2. Tapies

3. Gaudi

4. Picasso

Options :

87827082833. 1
87827082834. 2
87827082835. 3
87827082836. 4

Question Number : 75 Question Id : 87827020932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Los taifas se encontraban en
1. Navarra

2. Catalufa

3. El Pais Vasco

4. Andalucia

Options:

87827082837. 1
87827082838. 2
87827082839. 3

87827082840. 4

Question Number : 75 Question Id : 87827020932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los taifas se encontraban en
1. Navarra

2. Catalufa

3. El Pais Vasco

4. Andalucia

Options :

87827082837. 1
87827082838. 2
87827082839. 3
87827082840. 4

Question Number : 76 Question Id : 87827020933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



En el método gramatica-traduccion, la gramatica se ensefia de forma:
1. Inductiva

2. Despectiva

3. Afirmativa

4. Deductiva

Options:

87827082841. 1
87827082842. 2
87827082843.3
87827082844. 4

Question Number : 76 Question Id : 87827020933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

En el método gramatica-traduccion, la gramatica se ensefia de forma:
1. Inductiva

2. Despectiva

3. Afirmativa

4. Deductiva

Options :

87827082841. 1
87827082842. 2
87827082843.3
87827082844. 4

Question Number : 77 Question Id : 87827020934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La semantica es un(a):
1. Termino que proviene del latin, semanticoni, semanticonis; se encarga de la identificacion y
andlisis delas unidades minimas significativas del analisis gramatical.
2. Unidad minima con significado léxico que no presenta morfemas gramaticales; por ejemplo: sol.
3. Nacio en Corcega y fue un movimiento de corte fonético-fonoldgico que pretendia descubrir y
establecer los patrones sonoros de las lenguas habladas en Europa,
4, En general, se puede definir como la disciplina linglistica que se encarga del "estudio del
significado’”,
Options:
87827082845. 1
87827082846. 2
87827082847. 3

87827082848. 4

Question Number : 77 Question Id : 87827020934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La semantica es un(a):
1. Término que proviene del latin, semanticoni, semanticonis; se encarga de la identificacion y
andlisis delas unidades minimas significativas del analisis gramatical,
2. Unidad minima con significado léxico que no presenta morfemas gramaticales; por ejemplo: sol.
3. Nacio en Corcega y fue un movimiento de corte fonético-fonoldgico que pretendia descubrir y
establecer los patrones sonoros de las lenguas habladas en Europa,
4, En general, se puede definir como la disciplina linglistica que se encarga del "estudio del
significado’”,
Options :
87827082845. 1
87827082846. 2
87827082847. 3

87827082848. 4



Question Number : 78 Question Id : 87827020935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Si comiendo asi, te pondras como una vaca. Pero si todavia no he probado bocado.
1. Sigues

2. Sigas

3. Seguiras

4, Has seguido

Options :

87827082849. 1

87827082850. 2

87827082851. 3

87827082852. 4

Question Number : 78 Question Id : 87827020935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Si comiendo asi, te pondras como una vaca. Pero si todavia no he probado bocado.
1. Sigues

2. Sigas

3. Seguiras

4, Has seguido

Options :

87827082849. 1

87827082850. 2

87827082851. 3

87827082852. 4

Question Number : 79 Question Id : 87827020936 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Siempre llegas tarde a todas partes, Sergio.

Perdona, pero se me descargo el movil te pudiera avisar.
1. por eso no

2. porque no

3. de ahi que no

4, |la verdad no
Options :
87827082853. 1
87827082854 2
87827082855. 3

87827082856. 4

Question Number : 79 Question Id : 87827020936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Siempre llegas tarde a todas partes, Sergio.

Perdona, pero se me descargd el movil te pudiera avisar.
1. por eso no

2. porque no

3. de ahi que no

4, |la verdad no
Options:
87827082853. 1
87827082854 2
87827082855. 3

87827082856. 4



Question Number : 80 Question Id : 87827020937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Por qué no invitas también a Alicia? No venir, porque vienes tu, ya lo sabes.
1. quiera

2. querrd

3. habia querido

4, quisiera

Options :

87827082857. 1
87827082858. 2
87827082859. 3

87827082860. 4

Question Number : 80 Question Id : 87827020937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Por qué no invitas también a Alicia? No venir, porque vienes tu, ya lo sabes.
1. quiera

2. querra

3. habia querido

4, quisiera

Options:

87827082857. 1
87827082858. 2
87827082859. 3

87827082860. 4

Question Number : 81 Question Id : 87827020938 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

El concepto de meta frase en la traduccion literaria se define como
1. La retraduccion

2. La traduccion literal palabra por palabra

3. La traduccion de terminologia cientifica

4. La fraseologia de la lengua meta

Options :

87827082861. 1
87827082862. 2
87827082863. 3

87827082864. 4

Question Number : 81 Question Id : 87827020938 Question Type : MCQ Option Shuffling : No
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El concepto de meta frase en la traduccion literaria se define como
1. La retraduccion

2. La traduccion literal palabra por palabra

3. La traduccion de terminologia cientifica

4. La fraseologia de la lengua meta

Options:

87827082861. 1
87827082862. 2
87827082863. 3

87827082864. 4

Question Number : 82 Question Id : 87827020939 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Como hago esto? — Hazlo como las instrucciones.
1. indican

2. indigquen

3. indica

4. indique
Options :
87827082865. 1
87827082866. 2
87827082867. 3

87827082868. 4
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Correct Marks : 2 Wrong Marks : 0

¢Como hago esto? — Hazlo como las instrucciones.
1. indican

2. indigquen

3. indica

4. indique
Options :
87827082865. 1
87827082866. 2
87827082867. 3

87827082868. 4

Question Number : 83 Question Id : 87827020940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Hay muy pocos extranjeros que chino bien,
1. habla

2. hablan

3. hable

4. hablen

Options :

87827082869. 1
87827082870. 2
87827082871.3

87827082872. 4

Question Number : 83 Question Id : 87827020940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Hay muy pocos extranjeros que chino bien,
1. habla

2. hablan

3. hable

4. hablen

Options :

87827082869. 1
87827082870. 2
87827082871.3

87827082872. 4

Question Number : 84 Question Id : 87827020941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La luz roja esta encendida, tiene corriente.
1. conque

2. luego

3. por eso

4. consecuentemente
Options:
87827082873. 1
87827082874. 2
87827082875. 3
87827082876. 4

Question Number : 84 Question Id : 87827020941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
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La luz roja esta encendida, tiene corriente.

1. conque
2. luego

3. por eso
4. consecuentemente

Options :

87827082873. 1
87827082874. 2
87827082875. 3
87827082876. 4

Question Number : 85 Question Id : 87827020942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La pelicula era larga que tuvimos que salir sin que acabara.
1.tan
2. tanto
3. tanta
4. tan poco
Options :
87827082877. 1
87827082878. 2
87827082879. 3

87827082880. 4

Question Number : 85 Question Id : 87827020942 Question Type : MCQ Option Shuffling : No
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La pelicula era larga que tuvimos que salir sin que acabara.
1.tan
2. tanto
3. tanta
4. tan poco
Options :
87827082877. 1
87827082878. 2
87827082879. 3

87827082880. 4

Question Number : 86 Question Id : 87827020943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



lo intenta, no me gana nunca.

1. a pesar de que
2. aun cuando
3. por mas que
4. por mas
Options :
87827082881. 1
87827082882. 2
87827082883. 3

87827082884. 4
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lo intenta, no me gana nunca.

1. a pesar de que
2. aun cuando
3. por mas que
4. por mas
Options :
87827082881. 1
87827082882. 2
87827082883. 3

87827082884. 4

Question Number : 87 Question Id : 87827020944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



En la ensefianza de ELE, el método directo se basa en:
1. la observacion del profesor en el aula.

2. la prioridad de la lengua escrita.

3. la repeticion y los “drill” del aprendiz.

4. el uso adecuado de textos literarios.

Options:

87827082885. 1
87827082886. 2
87827082887.3

87827082888. 4
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En la ensefianza de ELE, el método directo se basa en:
1. la observacion del profesor en el aula.
2. la prioridad de la lengua escrita.

3. la repeticion y los “drill” del aprendiz.
4. el uso adecuado de textos literarios.

Options :

87827082885. 1
87827082886. 2
87827082887.3

87827082888. 4

Question Number : 88 Question Id : 87827020945 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Un conjunto de supuestos con respeto a la naturaleza de la ensefianza y aprendizaje de la lengua es:
1. un método

2. un enfoque

3. una técnica

4. un disefio

Options:

87827082889. 1
87827082890. 2
87827082891. 3

87827082892. 4
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Un conjunto de supuestos con respeto a [a naturaleza de la ensefianza y aprendizaje de la lengua es:
1, un método

2. un enfoque

3. una técnica

4. un disefio

Options :

87827082889. 1
87827082890. 2
87827082891. 3
87827082892. 4

Question Number : 89 Question Id : 87827020946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La extranjerizacion es una estrategia de traduccion principalmente recomendada por
1. Lawrence Venuti
2. Eugene Nida
3. Alfredo Panas
4, Michael Halliday
Options :
87827082893. 1
87827082894, 2
87827082895. 3

87827082896. 4
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La extranjerizacion es una estrategia de traduccion principalmente recomendada por
1. Lawrence Venuti
2. Eugene Nida
3. Alfredo Panas
4, Michael Halliday
Options :
87827082893. 1
87827082894, 2
87827082895. 3

87827082896. 4

Question Number : 90 Question Id : 87827020947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La expresion en negrita significa:
Ya te lo he explicado por completo su oferta: no vengas a buscarle los cinco pies al gato.
1. cambiar de moda
2. complicar una teoria de forma exagerada
3. no prestar atencion al caso
4. irabuscar trabajo
Options:
87827082897. 1
87827082898. 2
87827082899. 3

87827082900. 4

Question Number : 90 Question Id : 87827020947 Question Type : MCQ Option Shuffling : No
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La expresion en negrita significa:
Ya te lo he explicado por completo su oferta: no vengas a buscarle los cinco pies al gato.
1. cambiar de moda
2. complicar una teoria de forma exagerada
3. no prestar atencion al caso
4. irabuscar trabajo

Options :

87827082897. 1

87827082898. 2

87827082899. 3

87827082900. 4

Question Number : 91 Question Id : 87827020948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

¢Entre los siguientes movimientos en América Latina cuales son de indole terrorista?
A. Sendero Luminoso

B. FARC

C. APRA

D. Zapatismo

1.AyB

2.ByC

3.AyC

4,AyD

Options :

87827082901. 1
87827082902. 2
87827082903. 3

87827082904. 4
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¢Entre los siguientes movimientos en América Latina cuales son de indole terrorista?
A. Sendero Luminoso

B. FARC

C. APRA

D. Zapatismo

1.AyB

2.ByC

3.AyC

4. AyD

Options :
87827082901. 1

87827082902. 2



87827082903. 3
87827082904. 4

Question Number : 92 Question Id : 87827020949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Cuales obras forman parte del Boom latinoamericano?
A. La ciudad y los perros

B. La ciudad mas transparente

C. Simone

D. Camino de lda

1.AyB

2. Ay C

3.ByD

4.CyD

Options :

87827082905. 1
87827082906. 2
87827082907. 3
87827082908. 4

Question Number : 92 Question Id : 87827020949 Question Type : MCQ Option Shuffling : No
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¢ Cuales obras forman parte del Boom latinoamericano?
A. La ciudad y los perros

B. La ciudad mas transparente

C. Simone

D. Camino de |da

1.AyB

2.AyC

3.ByD

4.CyD

Options:

87827082905. 1
87827082906. 2
87827082907. 3

87827082908. 4

Question Number : 93 Question Id : 87827020950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Entre los siguientes autores quiénes han escrito sobre la India?
A. Octavio Paz

B. Severo Sarduy

C. Ernesto Sabato

D. Ricardo Giraldes

1.A,ByD

2.B,C,yD

3.CyD

4, Ay C

Options :
878270829009. 1

87827082910. 2

87827082911. 3



87827082912. 4

Question Number : 93 Question Id : 87827020950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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¢Entre los siguientes autores quiénes han escrito sobre la India?
A. Octavio Paz

B. Severo Sarduy

C. Ernesto Sabato

D. Ricardo Guiraldes

1.A,ByD

2. B.E yD

3.CyD

4, Ay C

Options :

87827082909. 1
87827082910. 2
87827082911.3

87827082912. 4

Question Number : 94 Question Id : 87827020951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Quienes son los protagonistas de la novela Rayuela de Julio Cortazar?
A. Oliviera

B. Melquiades

C. La Maga

D. Remedios

1.84,B.C

2.AyC

3.CyD

4.AyD

Options:

87827082913. 1
87827082914. 2
87827082915. 3
87827082916. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Quiénes son los protagonistas de la novela Rayuela de Julio Cortazar?
A. Oliviera

B. Melquiades

C. La Maga

D. Remedios

1.A,B,C

2.AyC

3.CyD

4. AyD

Options :
87827082913. 1

87827082914. 2

87827082915. 3



87827082916. 4

Question Number : 95 Question Id : 87827020952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

éEntre los siguientes autores quiénes son de Argentina?
A. Martin Kohan

B. Inés Arredondo

C. Ricardo Piglia

D. Claudia Pifieiro

1.ByC

2.B,C,D

3.A,C,D

4,.ByD

Options :
87827082917. 1
87827082918. 2

87827082919. 3

87827082920. 4

Question Number : 95 Question Id : 87827020952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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¢ Entre los siguientes autores quiénes son de Argentina?
A. Martin Kohan

B. Inés Arredondo

C. Ricardo Piglia

D. Claudia Pifieiro

1.ByC

2.B,C,D

3.A,C.DB

4.ByD

Options:

87827082917. 1
87827082918. 2
87827082919. 3

87827082920. 4

Question Number : 96 Question Id : 87827020953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cudles son las caracteristicas de Don Segundo Sombra de Ricardo Guiraldes?
A. Es una obra argentina

B. Don Segundo Sombra es un gaucho

C. Don Segundo Sombra es un comerciante.

D. Es unaobra del movimiento regionalista

1.AyC

2,CyD

3.A,ByD

4,A,CyD

Options :
87827082921. 1

87827082922. 2

87827082923. 3



87827082924. 4

Question Number : 96 Question Id : 87827020953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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¢ Cuales son las caracteristicas de Don Sequndo Sombra de Ricardo Guiraldes?
A. Es una obra argentina

B. Don Segundo Sombra es un gaucho

C. Don Segundo Sombra es un comerciante.

D. Es unaobra del movimiento regionalista

1.AyC

2.CyD

3.AByD

4,A,CyD

Options :
87827082921. 1
87827082922. 2

87827082923. 3

87827082924. 4

Question Number : 97 Question Id : 87827020954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Entre los siguientes quiénes son autores exiliados de Cuba?
A. Guillermo Cabrera Infante

B. Severo Sarduy

C. Julio Cortazar

D. Herberto Padilla

E. Gustavo Guerrero

1.C,DyE

2.B,CyD

3.A,ByD

4, A, ByE

Options:

87827082925. 1
87827082926. 2
87827082927.3

87827082928. 4

Question Number : 97 Question Id : 87827020954 Question Type : MCQ Option Shuffling : No
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¢ Entre los siguientes quiénes son autores exiliados de Cuba?
A. Guillermo Cabrera Infante

B. Severo Sarduy

C. Julio Cortazar

D. Herberto Padilla

E. Gustavo Guerrero

1.C,DyE

2.B,CyD

3.A,ByD

4, A, ByE

Options :
87827082925. 1

87827082926. 2



87827082927. 3

87827082928. 4

Question Number : 98 Question Id : 87827020955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Cuales son las caracteristicas de la pelicula“Bardo” de Alejandro IRarritu?
A. Es una pelicula contempordnea

B. Es una pelicula de la diaspora Mexicana en EEUU

C. La pelicula tiene fuerte dosis de fantasia

D. La pelicula trata el tema de los animales

1.A,CyD

2.B,CyD

3.AByC

4,ByD

Options :
87827082929. 1
87827082930. 2

87827082931. 3

87827082932. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



¢Cuales son las caracteristicas de la pelicula“Bardo” de Alejandro Ifarritu?
A. Es una pelicula contemporanea

B. Es una pelicula de la diaspora Mexicana en EEUU

C. La pelicula tiene fuerte dosis de fantasia

D. La pelicula trata el tema de los animales

1.A,CyD

2.B,CyD

3.A,ByC

4.ByD

Options:

87827082929. 1
87827082930. 2
87827082931.3

87827082932. 4

Question Number : 99 Question Id : 87827020956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Las bebidas autoctonas de los paises de América Latina son:
A. Mate

B. Daiquiri

C. Gazpacho

D. Guisque

1.AyD

2.AyB

3.ByD

4. ByC

Options :
87827082933. 1

87827082934. 2

87827082935. 3



87827082936. 4
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Las bebidas autoctonas de los paises de América Latina son:
A. Mate

B. Daiquiri

C. Gazpacho

D. Guisque

1.AyD

2.AyB

3.ByD

4.ByC

Options :

87827082933. 1
87827082934. 2
87827082935. 3

87827082936. 4

Question Number : 100 Question Id : 87827020957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



La novella Patria de Fernando Aramburu es

A. Una novella sobre el terrorismo en el Pais Vasco
B. Una historia del patriotismo catalan

C. La historia de dos familias

D. Una serie en HBO

1.A,CyD

2.B,CyD

3.CyD

4,ByD

Options:

87827082937. 1
87827082938. 2
87827082939. 3

87827082940. 4

Question Number : 100 Question Id : 87827020957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

La novella Patria de Fernando Aramburu es

A. Una novella sobre el terrorismo en el Pais Vasco
B. Una historia del patriotismo catalan

C. La historia de dos familias

D. Una serie en HBO

1.A,CyD

2.B,CyD

3.CyD

4,.ByD

Options :
87827082937. 1

87827082938. 2
87827082939. 3



87827082940. 4

Question Number : 101 Question Id : 87827020958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gustavo Adolfo Becquer es considerado posroméntico y su obra es simultanea a la obra de los siguientes
escritores espafioles:

A, Rosalia de Castro

B. Augusto Ferran

C. Miguel de Unamuno

D. Emilia Pardo Bazan

1.AyB

2.ByC

3.CyD

4.AByC

Options :

87827082941. 1
87827082942, 2
87827082943. 3

87827082944. 4

Question Number : 101 Question Id : 87827020958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Gustavo Adolfo Becquer es considerado posroméntico y su obra es simultaneaa la obra de los siguientes
escritores espafioles:

A, Rosalia de Castro

B. Augusto Ferran

C. Miguel de Unamuno

D. Emilia Pardo Bazan

1.AyB

2.ByC

3.CyD

4.AByC

Options:

87827082941. 1
87827082942. 2
87827082943. 3

87827082944. 4

Question Number : 102 Question Id : 87827020959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Las siguientes obras son las mas importantes del teatro surrealista espafiol.
A. Cinco horas con Mario

B. Asi que pasen cinco afios

C. El Pdblico

D. Don Alvaro o la fuerza del sino

1.AyB

2,A,ByC

3.ByC

4,B,CyD

Options :
87827082945. 1

87827082946. 2



87827082947. 3
87827082948. 4

Question Number : 102 Question Id : 87827020959 Question Type : MCQ Option Shuffling : No
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Las siguientes obras son las mas importantes del teatro surrealista espafiol.
A. Cinco horas con Mario

B. Asi que pasen cinco afios

C. El Pdblico

D. Don Alvaro o la fuerza del sino

1.AyB

2.A,ByC

3.ByC

4,B,CyD

Options:

87827082945. 1
87827082946. 2
87827082947.3

87827082948. 4

Question Number : 103 Question Id : 87827020960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Los siguientes son protagonistas del cuento “IAdids, Cordera!” de Clarin:
A. Ana Ozores

B. Don Fermin

C. Rosa

D. Pifiin

1.AyB

2.ByC

3.CyD

4. AyD

Options:

87827082949. 1
87827082950. 2
87827082951.3

87827082952. 4

Question Number : 103 Question Id : 87827020960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes son protagonistas del cuento “|Adiés, Cordera!” de Clarin:
A. Ana Ozores

B. Don Fermin
C. Rosa
D. Pifiin
1.AyB
2.ByC
3.CyD
4, AyD

Options :
87827082949. 1
87827082950. 2

87827082951. 3



87827082952. 4

Question Number : 104 Question Id : 87827020961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Las siguientes son las caracteristicas del realism espafiol:

A, Losescritores realistas pueden convertir a seres humildes en protagonistas problematicos y
hasta tragicos como se ve en la novella como Misericordia.

B.  Hayelementos fantasticos en la narracion.

C. Sepercibe una profunda influencia de las técnicas pictdricas en la escritura y en la composicion
de las novelas.

D, Lavision del novelista es no linear,

Elija la opcidn correcta:

LAyB

2.AByC

3.AyC

4.8,CyD

Options :

87827082953. 1
87827082954. 2
87827082955. 3

87827082956. 4

Question Number : 104 Question Id : 87827020961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Las siguientes son las caracteristicas del realism espafiol:

A Losescritores realistas pueden convertir a seres humildes en protagonistas problematicos y
hasta tragicos como se ve en la novella como Misericordia.

B.  Hayelementos fantasticos en la narracion.

C. Sepercibe una profunda influencia de las técnicas pictdricas en la escritura y en la composicion
de las novelas.

D, Lavision del novelista es no linear,

Elija [a opcion correcta:

LAyB

2.AByC

3.AyC

4.8,CyD

Options:

87827082953. 1
87827082954. 2
87827082955. 3

87827082956. 4

Question Number : 105 Question Id : 87827020962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes rasgos caracterizan la generacion del 98:
A. Hay un profundo amor al arte

B. Se notan las influencias de parnasianos y simbolistas
C. Hay una profunda admiracion a la nobleza

D. Se notan las influencias de los clasicos greco-latinos
1, Ay B

2.ByC

3.CyD

4,ByD

Options :

87827082957. 1



87827082958. 2
87827082959. 3

87827082960. 4

Question Number : 105 Question Id : 87827020962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes rasgos caracterizan la generacion del 98:
A. Hay un profundo amor al arte

B. Se notan las influencias de parnasianos y simbolistas
C. Hay una profunda admiracion a la nobleza

D. Se notan las influencias de los clasicos greco-latinos

1.AyB

2.ByC

3.CyD

4.ByD

Options :

87827082957. 1
87827082958. 2
87827082959. 3
87827082960. 4

Question Number : 106 Question Id : 87827020963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Cuales de los siguientes son correctos en contexto de La colmena?
A. El relato narra la vida de los madrilefios en exilio.

B. Madrid es la auténtica protagonista de la novela.

C. Trata el tema de la ciudad durante la guerra.

D. Cela cuenta unos dos dias de la vida de 160 personajes.

1.AyB

2.ByC

3.CyD

4,ByD

Options:

87827082961. 1
87827082962. 2
87827082963. 3
87827082964. 4

Question Number : 106 Question Id : 87827020963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cuales de los siguientes son correctos en contexto de La colmena?
A. El relato narra la vida de los madrilefios en exilio.

B. Madrid es la auténtica protagonista de la novela,

C. Trata el tema de la ciudad durante la guerra.

D. Cela cuenta unos dos dias de la vida de 160 personajes.

1.AyB

2.ByC

3.CyD

4,ByD

Options :
87827082961. 1

87827082962. 2

87827082963. 3



87827082964. 4

Question Number : 107 Question Id : 87827020964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

¢ Cuales de los siguientes son correctos en contexto de los cantares de gesta?

A. Narran las hazafias de los héroes

B. Pertenecen a la Edad Medieval

C. Los personajes son los animales
D. Pertenecen al Barroco.

1.AyB

2.ByC

3.CyD

4. AyD
Options :
87827082965. 1
87827082966. 2
87827082967. 3

87827082968. 4

Question Number : 107 Question Id : 87827020964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢ Cuales de los siguientes son correctos en contexto de los cantares de gesta?
A. Narran las hazafias de los héroes

B. Pertenecen a la Edad Medieval

C. Los personajes son los animales

D. Pertenecen al Barroco.

1.AyB
2.ByC
3.CyD
4.AyD
Options:
87827082965. 1
87827082966. 2
87827082967. 3

87827082968. 4

Question Number : 108 Question Id : 87827020965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes tenistas espafioles han ganado la copa de, al menos, un Grand Slam:
A. Sebastian Baez

B. Rafael Nadal

C. Carlos Alcaraz

D. Carlos Moy

1A ByC

2,B,CyD

3.AyB

4,ByC

Options :
87827082969. 1
87827082970. 2



87827082971. 3
87827082972. 4

Question Number : 108 Question Id : 87827020965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes tenistas espafioles han ganado la copa de, al menos, un Grand Slam:
A. Sebastian Baez

B. Rafael Nadal

C. Carlos Alcaraz

D. Carlos Moya

1A ByC

2,B,CyD

3.AyB

4,ByC

Options :

87827082969. 1
87827082970. 2
87827082971.3

87827082972. 4

Question Number : 109 Question Id : 87827020966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Los siguientes poetas pertenecen a la generacion del 27.
A. Pedro Salinas

B. Rafael Alberti

C. Moratin

D. Juan Ruiz

1.AyB

2.ByC

3.CyD

4.ByD

Options:

87827082973. 1
87827082974. 2
87827082975. 3
87827082976. 4

Question Number : 109 Question Id : 87827020966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes poetas pertenecen a la generacion del 27.
A. Pedro Salinas

B. Rafael Alberti

C. Moratin

D. Juan Ruiz

1.AyB

2.ByC

3.CyD

4. ByD

Options :
87827082973. 1
87827082974. 2

87827082975. 3



87827082976. 4

Question Number : 110 Question Id : 87827020967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Los siguientes son correctos en contexto de la novela £l manuscrito Carmesi que se publico en 1990;
A. Es escrita por Antonio Gala

B. £ escrita por Manuel Vicent

C. Se centra la novela en a figura de San Juan de la Cruz, el poeto mistico del Siglo de Oro espafiol.
D. Se centra la novela en la figura de Boahdil, dltimo rey nazari de Granada.

LAyB

2.ByC

3.CyD

4.AyD

Options :

87827082977. 1
87827082978. 2
87827082979. 3

87827082980. 4

Question Number : 110 Question Id : 87827020967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Los siguientes son correctos en contexto de la novela £l manuscrito Carmesi que se publico en 1990:
A. £s escrita por Antonio Gala

B. £ escrita por Manuel Vicent

C. Se centra la novela en la figura de San Juan de la Cruz, el poeto mistico del Siglo de Oro espafiol.
D. Se centra la novela en la figura de Boabdil, dltimo rey nazari de Granada.

1LAyB

2.ByC

3.CyD

4,AyD

Options:

87827082977. 1
87827082978. 2
87827082979. 3
87827082980. 4

Question Number : 111 Question Id : 87827020968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cual de las siguientes afirmaciones refleja la domesticacion en la traduccion?
A. Amolda el texto segln los valores de la cultura de llegada.

B. No esta ligada al lugar en el cual ha sido producida.

C. Envuelve intereses, perspectivas del latin.

D. Implica la produccion de un texto que sigue intereses especificos.

1.AyB

2.CyD

3.A,ByC

4. AyD

Options :
87827082981. 1

87827082982. 2

87827082983. 3



87827082984. 4

Question Number : 111 Question Id : 87827020968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢Cual de las siguientes afirmaciones refleja la domesticacion en la traduccion?
A. Amolda el texto segtin los valores de la cultura de llegada.

B. No esta ligada al lugar en el cual ha sido producida.

C. Envuelve intereses, perspectivas del latin.

D. Implica la produccion de un texto que sigue intereses especificos.

1.AyB

2.CyD

3.A,ByC

4.AyD

Options :
87827082981. 1
87827082982. 2

87827082983. 3

87827082984. 4

Question Number : 112 Question Id : 87827020969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢ Cuales de los siguientes son sinonimos de la palabra Calumniar?
A. Imputar

B. Acusar

C. infamar

D. Elogiar

1.AyD

2.A,CyD

3.A,ByC

4.B,CyD

Options :
87827082985. 1
87827082986. 2

87827082987. 3
87827082988. 4

Question Number : 112 Question Id : 87827020969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cuales de los siguientes son sinénimos de la palabra Calumniar?
A. Imputar

B. Acusar

C. infamar

D. Elogiar

1.AyD

2.A,CyD

3.A,ByC

4,B,CyD

Options:
87827082985. 1

87827082986. 2
87827082987. 3



87827082988. 4

Question Number : 113 Question Id : 87827020970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

¢ Cuales de los siguientes son antonimos de |a palabra Cohabitacion?

A. Separacion

B. Cooperacion

C. Lealtad

D. Alejamiento

1.AyC

2.ByC

3.B,CyD

4.AyD

Options :
87827082989. 1
87827082990. 2

87827082991. 3

87827082992. 4

Question Number : 113 Question Id : 87827020970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢ Cuales de los siguientes son antonimos de |a palabra Cohabitacion?
A. Separacion

B. Cooperacion

C. Lealtad

D. Alejamiento

1.AyC

2.ByC

3.B,CyD

4.AyD

Options:
87827082989. 1
87827082990. 2

87827082991. 3

87827082992. 4

Question Number : 114 Question Id : 87827020971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cuales de los siguientes son sindnimos de la palabra fanfarronear?
A. jactarse

B. presumir

C. humillarse

D. alardear

1.AyC
2.A,ByD
3.CyD
4.B,CyD

Options :

87827082993. 1

87827082994. 2



87827082995. 3
87827082996. 4

Question Number : 114 Question Id : 87827020971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
¢ Cuales de los siguientes son sindnimos de la palabra fanfarronear?
A. jactarse
B. presumir

C. humillarse
D. alardear

1.AyC
2.A,ByD
3.CyD
4.B,CyD
Options :
87827082993. 1
87827082994. 2
87827082995. 3

87827082996. 4

Question Number : 115 Question Id : 87827020972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



¢ Cual de las siguientes son anténimos de la palabra Escarpado?
A. Plano

B. Desigual

C. Uniforme

D. Quebrado

1.AyC

2.ByD

3.CyD

3.A,CyD

Options:

87827082997. 1
87827082998. 2
87827082999. 3
87827083000. 4

Question Number : 115 Question Id : 87827020972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cual de las siguientes son anténimos de la palabra Escarpado?
A. Plano

B. Desigual

C. Uniforme

D. Quebrado

1.AyC

2.ByD

3.CyD

3.A,CyD

Options :
87827082997. 1

87827082998. 2

87827082999. 3



87827083000. 4

Question Number : 116 Question Id : 87827020973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione las peliculas con el pals correctamente:

Lista | Lista Il
A. Machuca |, Argentina
B. Roma I Chile
C. Volver Il México
D. La Historia Oficial IV, Espafia
Elija la opcion correcta:
1. All, B-Il, C4, D-IV
2. A-ll, B-l, C-V, D
3. AV, B-ll, C-IIl, D
4, A, B-/I1, C-IV, D-l
Options :

87827083001. 1
87827083002. 2
87827083003. 3

87827083004. 4

Question Number : 116 Question Id : 87827020973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Relacione las peliculas con el pais correctamente:

Lista | Lista Il
A. Machuca |, Argentina
B. Roma I Chile
C. Volver 1. México
D. La Historia Oficial IV, Espafia
Elija la opcion correcta:
1. All, B-II, C4, D-IV
2. Al B-l, C-1V, D
3. AV, B-ll, C-IIl, D
4, A, /11, C-IV, D-l
Options :

87827083001. 1
87827083002. 2
87827083003. 3

87827083004. 4

Question Number : 117 Question Id : 87827020974 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Lista |

Lista I

A. Miguel Angel Asturias

|, El zorro de arriba y el zorro de abajo

B. Ciro Alegria

Il El mundo es anchoy ajeno

C. Mario Vargas Llosa

IIl. El sefior presidente

D. José Marfa Arguedas

IV, La tiaJuliay el escribidor

Elija la opcioncorrecta:
1. A, B-IIl, C-II, D-IV
2. Al B-IIl, C-, D-V
3. AV, BN, G-Il D-|
4. A-lll, B-I1, C-V, D-|

Options :




87827083005. 1
87827083006. 2
87827083007. 3

87827083008. 4

Question Number : 117 Question Id : 87827020974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de [as siguientes listas correctamente:

Lista | Lista Il

A. Miguel Angel Asturias |. El zorro de arriba y el zorro de abajo
B. Ciro Alegrfa Il Efmundo es anchoy ajeno
C. Mario Vargas Llosa IIl. El sefior presidente

D. José Maria Arguedas IV, La tiaJuliay el escribidor
Elija [a opcioncorrecta:

1, A, B-lll, C-II, D-IV

2. AL B-ll, C, D-IV

3. AV, B-ll, C-IIl, D

4, A1, Bl CV, Dl

Options :

87827083005. 1
87827083006. 2
87827083007. 3
87827083008. 4

Question Number : 118 Question Id : 87827020975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listascorrectamente:

Lista | Lista Il
A, Fernando Botero |, La columna rota
B. Diego Rivera Il Suefio de una tarde dominical en [a Alameda
C. Frida Kahlo IIl. La muerte de Pablo Escobar
D. Wilfredo Lam IV, La Silla
Elija la opcion correcta:
1 AV, B-1l, C-IIl, D-|
2, Al B-I1, C4, DIV
3. Acll, B+, C-II1, DIV
4, AV, B-IIl, C-Il, D-
Options :

878270830009. 1
87827083010. 2
87827083011. 3

87827083012. 4

Question Number : 118 Question Id : 87827020975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listascorrectamente:

Lista | Lista Il

A, Fernando Botero |, La columna rota

B. Diego Rivera Il Suefio de una tarde dominical en [a Alameda
C. Frida Kahlo IIl. La muerte de Pablo Escobar

D. Wilfredo Lam IV, La Silla

Elija la opcion correcta:

1. AV, B-1l, C-IIl, D-|

2, Al B-I1, C4, DV

3. Acll, B[, C-II1, DIV

4, AV, B-IIl, C-Il, D-

Options :



87827083009. 1
87827083010. 2
87827083011. 3

87827083012. 4

Question Number : 119 Question Id : 87827020976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de [as siguientes listas correctamente:

Lista| Lista I
A. a Sardana |, Aragon
B. £l Chotis Il Andalucia
C. El Flamenco IIl. Madrid
D. LaJota V. Catalufia
Elija [a opcion correcta:
1. A-IV, B-lII, C-II, D-|
2. Acl, B-ll, C-III, DIV
3. Acll, B-1V, C-IIl, D-|
4, AIl, B+, C-1I, DIV
Options :

87827083013. 1
87827083014. 2
87827083015. 3
87827083016. 4

Question Number : 119 Question Id : 87827020976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas correctamente:

Lista | Lista Il
A. La Sardana |, Aragon
B. £l Chotis II. Andalucia
C. El Flamenco IIl. Madrid
D. LaJota V. Catalufia
Elija la opcion correcta:
1. A-IV, B-lIl, C-II, D-|
2, Acl, B-ll, C-III, DIV
3. Acll, B~V C-Il, D
4, AIl, B+, C-lI, DAV
Options :

87827083013. 1
87827083014. 2
87827083015. 3

87827083016. 4

Question Number : 120 Question Id : 87827020977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Listal Lista Il

A. £l aguador de Sevilla |. La pintura surrealista

B. £l Guernica |l. Las pinturas negras

C. Persistencia de la memoria IIl. La destruccion por el bombardeo de las
tropas alemanas

D. Saturno devorando a su hijo V. El picaro

Elija la opcion correcta:

1. A-lIL, B-1, C-II, D-Iv

2. A, B-II, C-lll, D-IV

3. A-ll, B-IV, C-1, D-II

4. AV, B-Ill, C, D-II



Options :

87827083017. 1
87827083018. 2
87827083019. 3
87827083020. 4

Question Number : 120 Question Id : 87827020977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Listal Lista Il
A. £l aguador de Sevilla |. La pintura surrealista
B. El Guernica |l. Las pinturas negras
C. Persistencia de la memoria IIl. La destruccion por el bombardeo de las
tropas alemanas
D. Saturno devorando a su hijo V. El picaro
Elija la opcion correcta:
1, A-lIl, B-, C-II, D-IV
2. A, B-II, C-lIl, D-IV
3. A-ll, B-IV, C-1, D-II
4, A-IV, B-lll, C-1, D-I
Options :

87827083017. 1
87827083018. 2
87827083019. 3
87827083020. 4

Question Number : 121 Question Id : 87827020978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas correctamente:

Listal Lista Il
A. Juan Gris |. Luminismo
B. Maruja Mallo Il Cubismo
C. Joaquin Sorolla IIl. Bodegon
D. Diego Velazquez IV, Surrealismo
Elija a opcion correcta:
1. A-ll, B-V, C-I, D-II
2. A-lIl, B-l, C-II, D-IV
3. A, B-ll, C-III, DAV
4. A1V, B-lll, C-Il, D

Options :

87827083021. 1
87827083022. 2
87827083023. 3

87827083024. 4

Question Number : 121 Question Id : 87827020978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Listal Lista Il

A. Juan Gris |. Luminismo
B. Maruja Mallo Il Cubismo

C. Joaquin Sorolla IIl. Bodegon

D. Diego Velazquez V. Surrealismo
Elija la opcion correcta:

1. A-ll, B-IV, C-1, D-II

2, A-lll, B, C-II, D-IV

3. A, B-Il, C-lIl, D-v

4, A1V, B-IIl, C-Il, D-|

Options :



87827083021. 1
87827083022. 2
87827083023. 3

87827083024. 4

Question Number : 122 Question Id : 87827020979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de [as siguientes listas correctamente:

Lista | Lista Il
A. Perder los estribos |, Hacerse Rico
B. Ponerse las botas II. En prevencion
C. Por si las moscas I, Decir lo que piensa
D. No tener pelos en [a lengua IV, Descontrolarse
Elija [a opcion correcta:
1. A, B-IIl, C4V, D-|
2. Al B-lI, C4, D-IV
3. A, BV, C-II1, DI
4, A1V, B, C-Il, D-II
Options :

87827083025. 1
87827083026. 2
87827083027. 3

87827083028. 4

Question Number : 122 Question Id : 87827020979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas correctamente:

Lista | Lista Il
A. Perder los estribos |. Hacerse Rico
B. Ponerse [as hotas I, En prevencion
C. Por silas moscas I Decir lo que piensa
D. No tener pelos en la lengua IV, Descontrolarse
Elija la opcion correcta:
1. A-ll, B-IIl, C-V, D
2. All, B-II, C4, D-IV
3. A, BV, C-ll, DAl
4, AV, B-l, C-I1, D-ll
Options :

87827083025. 1
87827083026. 2
87827083027. 3
87827083028. 4

Question Number : 123 Question Id : 87827020980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Lista | Lista Il

A. De tal palo, tal astilla |, Sefiar la similitud entre dos personas
B. Quid pro quo 1. Sin decidir

C. No todo el monte es orégano IIl. No todo e facil ni placentero

D. Entre Pintoy Valdemoro IV, Cosa que sustituye

Elija [a opcion correcta:

1, All, B-IIl, C-V, D

2. A, B-II, C4, DAV

3, AL, BV, C-ll, DAl

4, AV, B-l, C-I1, D-Il

Options:



87827083029. 1
87827083030. 2
87827083031. 3

87827083032. 4

Question Number : 123 Question Id : 87827020980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de [as siguientes listas correctamente:

Lista | Lista Il
A. De tal palo, tal astilla |, Sefiar la similitud entre dos personas
B. Quid pro quo I Sin decidir
C. No todo el monte es orégano IIl. No todo es facil ni placentero
D. Entre Pinto y Valdemoro IV, Cosa que sustituye
Elija [a opcion correcta:
1. A-ll, B-IIl, C-V, D
2. AHll, B-II, C4, D-IV
3. AL BV, C-ll, D-l
4, AV, B, C-I1, D-Il
Options :

87827083029. 1
87827083030. 2
87827083031. 3

87827083032. 4

Question Number : 124 Question Id : 87827020981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas correctamente:

Lista | Lista Il
A. Enfoque comunicativo |, Traduccion entre lengua metay lengua madre
B. Competencia existencial Il Enfoque nocional-funcional
C. Método audio-lingual IIl. Suma de caracteristicas individuales
D. Método gramatica-traduccion IV, Conductismo
Elija la opcion correcta:
1. Al, B-III, CAV, D-|
2. Al B-lI, G4, D-IV
3. A, BV, C-II1, DI
4, AV, B, C-ll, DIl
Options :

87827083033. 1
87827083034. 2
87827083035. 3
87827083036. 4

Question Number : 124 Question Id : 87827020981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Lista | Lista Il

A. Enfoque comunicativo |, Traduccion entre lengua metay lengua madre
B. Competencia existencial Il. Enfoque nocional-funcional

C. Método audio-lingual IIl. Suma de caracteristicas individuales

D. Método gramatica-traduccion IV, Conductismo

Elija [a opcion correcta:

1, All, B-IIl, C-V, D

2. A, B-II, C4, DAV

3, AL, BV, C-ll, DAl

4, AV, B-l, C-I1, D-Il

Options:



87827083033. 1
87827083034. 2
87827083035. 3

87827083036. 4

Question Number : 125 Question Id : 87827020982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de [as siguientes listas correctamente:

Lista | Lista Il

A. El método tradicional |. Se basa en la conviccion de que el proceso de
aprendizaje de una segunda lengua es similar al
proceso de adquisicion de la primera lengua.

B. El método directo Il Enfatiza en una gramatica donde los conceptos
sean basicos, claves y transcendentales y en el
que el centro del analisis es el propio proceso

comunicativo.

C. El enfoque nocional funcional IIl. El proceso de aprendizaje del alumno consiste
en escuchar, comprender y memorizar

D. Enfoque por tareas V. Es [a propuesta de un programa de aprendizaje

de lengua cuyas unidades consiste en actividades
de uso de la lengua, y no en estructuras
sintacticas o en nociones y funciones.

Elija la opcioncorrecta:
1. AV, B-lll, C, DI
2. A, B+, C-II, D-IV
3. A, BelI1, CHIL DAV
4. Al B-1V, C-II, D
Options :
87827083037. 1
87827083038. 2
87827083039. 3

87827083040. 4



Question Number : 125 Question Id : 87827020982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Relacione los elementos de las siguientes listas correctamente:

Lista | Lista Il

A. El método tradicional |, Se basa en la conviccion de que el proceso de
aprendizaje de una segunda lengua es similar al
proceso de adquisicion de [a primera lengua.

B. El método directo I, Enfatiza en una gramatica donde los conceptos
sean basicos, claves y transcendentales y en el
que el centro del analisis es el propio proceso

comunicativo.

C. El enfoque nocional funcional Il El proceso de aprendizaje del alumno consiste
en escuchar, comprender y memorizar

D. Enfoque por tareas V. Es [a propuesta de un programa de aprendizaje

de lengua cuyas unidades consiste en actividades
de uso de la lengua, y no en estructuras
sintacticas o en nociones y funciones.

Elija [a opcioncorrecta:
1 AV, B-lll, C4, DI
2. A-lll, B+, C-II, DAV
3. AL, B-lI1, CHI1 DAV
4, Al B-1V, C-II, D
Options :
87827083037. 1
87827083038. 2
87827083039. 3

87827083040. 4

Question Number : 126 Question Id : 87827020983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta cronologica:
A. La guerra civil espafiola

B. La Batalla de Covadonga

C. Las guerras carlistas

D. La Batalla de las Navas de Tolosa
1.4, B.C,D

2.B,D,C, A

3.C. A BD

4.D,C,A,B

Options :

87827083041. 1
87827083042. 2
87827083043. 3

87827083044. 4

Question Number : 126 Question Id : 87827020983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta cronoldgica:
A. La guerra civil espafiola

B. La Batalla de Covadonga

C. Las guerras carlistas

D. La Batalla de las Navas de Tolosa
1,48, B,C,B

2.B,D,C, A

3.C,. A BD

4.D,C,A,B

Options :
87827083041. 1
87827083042. 2



87827083043. 3

87827083044. 4

Question Number : 127 Question Id : 87827020984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta segun la cronologia
A. Rococo

B. Mester de Clerecia

C. Regeneracionismo

D. Memoria histérica de la guerra civil espanola
1.D,A,B,C

2.B,A,C,D

3.B,C, DA

4. A,B,C,D

Options:

87827083045. 1
87827083046. 2
87827083047.3

87827083048. 4

Question Number : 127 Question Id : 87827020984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Elija la secuencia correcta segun la cronologia
A. Rococd

B. Mester de Clerecia

C. Regeneracionismo

D. Memoria historica de la guerra civil espafnola
1.0, A,B,C

2.B,A,C,D

3.B,C,D, A

4. A,B,C,D

Options :

87827083045. 1
87827083046. 2
87827083047.3

87827083048. 4

Question Number : 128 Question Id : 87827020985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta segun la cronologia:

A. Cantico espiritual - San Juan de la Cruz
B. La vida es suefio - Calderdn de la Barca
C. Teatro Critico - Feijoo

D. Fortunata y Jacinta - Benito Pérez Galdds
1.B,A,C,D

2.A,B,CD

3.C,D, B, A

4.D,C,A,B

Options :
87827083049. 1

87827083050. 2

87827083051. 3



87827083052. 4

Question Number : 128 Question Id : 87827020985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta segun la cronologia:

A. Cantico espiritual - San Juan de la Cruz
B. La vida es suefio - Calderdn de la Barca
C. Teatro Critico - Feijoo

D. Fortunata y Jacinta - Benito Pérez Galdds
1.B,A,C,D

2.A,B,C,D

3.C,D,B, A

4.D,C,A,B

Options :
87827083049. 1
87827083050. 2

87827083051. 3

87827083052. 4

Question Number : 129 Question Id : 87827020986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Elija la secuencia correcta segun la cronologia:

A. Guadiana

B. Guadalquivir

C. Tajo

D. Duero

1.0, C,A,B

2.A,B,C,D

3.D,A,B,C

4.C,A,D,B
Options :
87827083053. 1
87827083054. 2
87827083055. 3

87827083056. 4

Question Number : 129 Question Id : 87827020986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta segun la cronologia:
A. Guadiana

B. Guadalquivir

C. Tajo

D. Duero

1.D,CA,B

2.A,B,C,D

3.D,A,B,C

4.C,A D,B

Options :
87827083053. 1
87827083054. 2

87827083055. 3



87827083056. 4

Question Number : 130 Question Id : 87827020987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Elija la secuencia correcta segun la cronologia:
A. José Maria Aznar

B. Felipe Gonzalez

C. José Luis Rodriguez Zapatero

D. Adolfo Suarez

1.A,B,C, D

2.B,D,A,C

3.D0,B,A,C

4,.C A B, D

Options :

87827083057. 1
87827083058. 2
87827083059. 3

87827083060. 4

Question Number : 130 Question Id : 87827020987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Elija la secuencia correcta segun la cronologia:
A. José Maria Aznar

B. Felipe Gonzalez

C. José Luis Rodriguez Zapatero

D. Adolfo Suarez

1.A,B,C, D

2.B,D,A,C

3.D,B,A,C

4.C,A,B,D

Options :

87827083057. 1
87827083058. 2
87827083059. 3

87827083060. 4

Question Number : 131 Question Id : 87827020988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ponga los siguientes textos y autores literarios en orden cronoldgico.
A. Tiempo de huracanes - Fernanda Melchor
B. La verdad sospechosa — Juan Ruiz Alarcon
C. Estudios indostanicos - José Vasconcelos
D. Aura - Carlos Fuentes

E. El Periquillo Sarmiento - José Lizardi

Elija la opcion correcta:

1.B,EC,D,A

2.E,C,DB,A

3.E,B,A,C,D

4.A,B,C D,E

Options :
87827083061. 1

87827083062. 2



87827083063. 3
87827083064. 4

Question Number : 131 Question Id : 87827020988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ponga los siguientes textos y autores literarios en orden cronolégico.
A. Tiempo de huracanes - Fernanda Melchor
B. La verdad sospechosa - Juan Ruiz Alarcon
C. Estudios indostanicos — José Vasconcelos
D. Aura - Carlos Fuentes

E. El Periquillo Sarmiento - José Lizardi

Elija la opcion correcta:

1.B,EC,D,A

2.E,C,DB,A

3.E,B,ACD

4.A,B,C,D,E

Options :

87827083061. 1
87827083062. 2
87827083063. 3

87827083064. 4

Question Number : 132 Question Id : 87827020989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ponga los siguientes acontecimientos historicos en orden cronoldgico.
A. El Grito de Dolores

B. La guerra de pasteles

C. El Porfiriato

D. La Revolucién Mexicana

E. La nacionalizacion del petroleo
Elija la opcion correcta:

1,C, D, A,B,E

2.B,C,D,EA

3.8,B,C,D,E

4.A,D,C,B,E

Options:

87827083065. 1
87827083066. 2
87827083067. 3
87827083068. 4

Question Number : 132 Question Id : 87827020989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ponga los siguientes acontecimientos historicos en orden cronoldgico.
A. El Grito de Dolores

B. La guerra de pasteles

C. El Porfiriato

D. La Revolucion Mexicana

E. La nacionalizacion del petrdleo
Elija la opcion correcta:

1.C, D, A,B,E

2.B,C,D,EA

3.8,B,C.D,E

4.A,D,C,B,E

Options :



87827083065. 1
87827083066. 2
87827083067. 3

87827083068. 4

Question Number : 133 Question Id : 87827020990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ponga las siguientes peliculas latino americanas en orden cronologico.
A. Memorias de subdesarrollo
B. No

C. Argentina 1985

D. Fiebre Tropical

E. Fresa y Chocolate

Elija la opcion correcta:

1.0, A,B,CE

2.E,ACB,D

3,A,EBCD

4.A,B,C,D,E

Options :

87827083069. 1
87827083070. 2
87827083071. 3

87827083072. 4

Question Number : 133 Question Id : 87827020990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Ponga las siguientes peliculas latino americanas en orden cronoldgico.
A. Memorias de subdesarrollo
B. No

C. Argentina 1985

D. Fiebre Tropical

E. Fresa y Chocolate

Elija la opcion correcta:
1.D,A,B,C,E

2.E,ACBD

3.AEBLCD

4.A,B,CD,E

Options:

87827083069. 1
87827083070. 2
87827083071.3

87827083072. 4

Question Number : 134 Question Id : 87827020991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ponga las siguientes figuras historicas en orden cronologico.
A. Emiliano Zapata

B. Salvador Allende

C. Michelle Bachelet

D. Lazaro Cardenas

E. Jair Bolsonaro

Elija la opcion correcta:
1.B,A.C,D,E
2.D,A,B,C,E
3.A,0,B,C,E

4,.C,A B, D,E

Options :



87827083073. 1
87827083074. 2
87827083075. 3

87827083076. 4

Question Number : 134 Question Id : 87827020991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ponga las siguientes figuras historicas en orden cronoldgico.
A. Emiliano Zapata

B. Salvador Allende

C. Michelle Bachelet

D. Lazaro Cardenas

E. Jair Bolsonaro

Elija la opcion correcta:
1.B.A.C, B, E
2.D,A,B,C,E

3.4, D, B,C,E

4.C, A, B D,E

Options :

87827083073. 1
87827083074. 2
87827083075. 3

87827083076. 4

Question Number : 135 Question Id : 87827020992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arregle los siguientes segn los niveles de competencia establecidos por el Marco Comun Europeo de
Referencia:

A. Acceso

B. Dominio operativo eficaz
C. Umbral

D. Avanzado

La secuencia correcta es:
1.AB,CD

2.C,8,DA

3.ACD,B

4.0,C B, A

Options:

87827083077. 1
87827083078. 2
87827083079. 3
87827083080. 4

Question Number : 135 Question Id : 87827020992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arregle los siguientes segln los niveles de competencia establecidos por el Marco Comin Europeo de
Referencia:

A. Acceso

B. Dominio operativo eficaz
C. Umbral

D. Avanzado

La secuencia correcta es:;
1.ABCD

2.C,B,D,A

3.ACDB

4.0,C,B A

Options :



87827083077. 1
87827083078. 2
87827083079. 3

87827083080. 4

Question Number : 136 Question Id : 87827020993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Se dan dos frases a continuacion:

Frase . La competencia discursiva es parte de la competencia comunicativa y refiere a la
capacidad que posee una persona para desenvolverse de manera eficaz y combinando
los componentes gramaticales y significados en la lengua extranjera en diferentes
situaciones de comunicaciones.

Frase II La competencia comunicativa es la capacidad de una persona para desenvolverse de
forma adecuada y eficaz en una determinada comunidad de habla, es decir, en un grupo
de personas que comparten la misma lengua y patrones de uso de esa lengua.

Elija la opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero frase Il s incorrecta,
4, Frase | es incorrecta, pero frase Il es correcta.

Options :

87827083081. 1
87827083082. 2
87827083083. 3

87827083084. 4

Question Number : 136 Question Id : 87827020993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Se dan dos frases a continuacion:

Frase : La competencia discursiva es parte de la competencia comunicativa y refiere a la
capacidad que posee una persona para desenvolverse de manera eficaz y combinando
los componentes gramaticales y significados en la lengua extranjera en diferentes
situaciones de comunicaciones.

Frase II La competencia comunicativa es la capacidad de una persona para desenvolverse de
forma adecuada y eficaz en una determinada comunidad de habla, es decir, en un grupo
de personas que comparten la misma lengua y patrones de uso de esa lengua.

Elija la opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero frase Il es incorrecta.
4. Frase | es incorrecta, pero frase Il es correcta.

Options :

87827083081. 1
87827083082. 2
87827083083. 3

87827083084. 4

Question Number : 137 Question Id : 87827020994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Se dan dos frases a continuacion:

Frase I: Los marcadores textuales son elementos lingliisticos que ayudan al receptor a
interpretar el sentido del mensaje.
Frase II: Los marcadores textuales se tratan de palabras, locuciones o sintagmas que sirven para

indicar las relaciones logicas entre las diversas partes de que consta un texto.

Elija [a opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero frase Il s incorrecta,
4. Frase | esincorrecta, pero frase Il es correcta,

Options:

87827083085. 1
87827083086. 2
87827083087. 3
87827083088. 4

Question Number : 137 Question Id : 87827020994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Se dan dos frases a continuacion:

Frase |: Los marcadores textuales son elementos lingiiisticos que ayudan al receptor a
interpretar el sentido del mensaje.
Frase II Los marcadores textuales se tratan de palabras, locuciones o sintagmas que sirven para

indicar las relaciones logicas entre las diversas partes de que consta un texto.

Elija [a opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | s correcta, pero frase Il es incorrecta.
4. Frase | esincorrecta, pero frase |l s correcta,

Options :

87827083085. 1



87827083086. 2
87827083087. 3

87827083088. 4

Question Number : 138 Question Id : 87827020995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Se dan dos frases a continuacion:

Frase I: El calco semantico no es [aadopcion de un significado extranjero para una palabra ya
existente en una lengua.
Frase |l El calco Iéxico es un tipo especial de préstamo que no imita la entidad fonética material

(significante) del modelo extranjero sino otros dos aspectos mas “internos”: el esquema
0 construccion morfoldgica y la significacion.

Elija la opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero frase Il es incorrecta.
4. Frase | es incorrecta, pero frase |l es correcta.

Options :

87827083089. 1
87827083090. 2
87827083091. 3

87827083092. 4

Question Number : 138 Question Id : 87827020995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Se dan dos frases a continuacion:

Frase I: El calco semantico no es [aadopcion de un significado extranjero para una palabra ya
existente en una lengua.
Frase |l El calco Iéxico es un tipo especial de préstamo que no imita la entidad fonética material

(significante) del modelo extranjero sino otros dos aspectos mas “internos”: el esquema
0 construccion morfologica y la significacion.

Elija la opcion correcta:
1. Ambas frases son correctas.
2. Ambas frases son incorrectas.
3. Frase | es correcta, pero frase Il es incorrecta.
4. Frase | es incorrecta, pero frase Il es correcta.
Options :
87827083089. 1
87827083090. 2
87827083091. 3

87827083092. 4

Question Number : 139 Question Id : 87827020996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Se dan dos frases a continuacion:

Frase I: En El paraiso perdido Ana Marfa Matute presenta a los nifios en un clima de abandono.
Frase Il Después de la guerra civil miles de nifios fueron abandonados en Espafia,

Elija a opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero frase Il s incorrecta,
4. Frase | es incorrecta, pero frase Il es correcta,

Options :
87827083093. 1

87827083094. 2



87827083095. 3
87827083096. 4

Question Number : 139 Question Id : 87827020996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Se dan dos frases a continuacion:
Frase I: En £l paraiso perdido Ana Maria Matute presenta a los nifios en un clima de abandono.
Frase II Después de [a guerra civil miles de nifios fueron abandonados en Espafia,

Elija a opcion correcta:

1. Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero frase Il es incorrecta,
4. Frase | esincorrecta, pero frase Il es correcta,

Options :

87827083093. 1
87827083094. 2
87827083095. 3

87827083096. 4

Question Number : 140 Question Id : 87827020997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Se dan dos frases a continuacion:

Frase |: Las primeras obras narrativas constituyen la poesia épica.

Frase Il Las primeras obras narrativas tienen como eje el relato de las hazafias de un héroey
crean el orgullo patrio en las incipientes naciones.

Elija la opcion correcta:
1, Ambas frases son correctas,
2. Ambas frases son incorrectas.
3. Frase | es correcta, pero Frase Il es incorrecta.
4, Frase | es incorrecta, pero Frase Il es correcta.
Options:
87827083097. 1
87827083098. 2
87827083099. 3

87827083100. 4

Question Number : 140 Question Id : 87827020997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Se dan dos frases a continuacidn:

Frase |: Las primeras obras narrativas constituyen la poesfa épica.

Frase |l: Las primeras obras narrativas tienen como eje el relato de las hazafias de un héroe y
crean el orgullo patrio en las incipientes naciones.

Elija la opcion correcta:

1, Ambas frases son correctas.

2. Ambas frases son incorrectas.

3. Frase | es correcta, pero Frase Il es incorrecta.
4, Frase | es incorrecta, pero Frase Il es correcta.

Options :
87827083097. 1
87827083098. 2



87827083099. 3

87827083100. 4

Sub-Section Number : 2
Sub-Section Id : 878270933
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827020998 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Trafico de fauna silvestre

Leonora Esquivel Frias

La fauna silvestre es ya, en ganancias, |a tercera mercancia con la que se trafica, después de las drogas y
las armas. £l Worlwide Fund for Nature calcula que las bandas podrian estar ganando la asombrosa
cantidad de 20.000 millones de ddlares al afio por llevar de contrabando animales vivos y plantas
exoticas a coleccionistas sin escrapulos. A los criminales no les preocupa provocar la extincion de
especies, ni que éstas sufran terriblemente durante el traslado.

Hasta 11 millones de animales se trafican cada afio en America del Sur, sobre todo a Estados Unidos,
donde se venden ilegalmente a coleccionistas por internet o a través de intermediarios corruptos,
Muchos animales silvestres se ven amenazados por los traficantes, como monos, loros y serpientes. Se
calcula que solo 1 de cada 10 mil animales capturados para ser contrabandeados sobrevive en el viaje y
se convierte en exdtica mascota,

Los animales raros que sobreviven al contrabando hacen ganar mas a los criminales que el trafico de
drogas. Una guacamaya azul del Amazonas se vende por 25.000 dolares, y un mono titi, en peligro de
extincion, por 20.000. Hay bandas que combinan ambos traficos y esconden droga en el cuerpo de los
animales. Una vez, a serpientes colombianas se les hizo ingerir bolsas de cocaina. A los aduaneros les
parecieron raros os bultos en las serpientes. Lamentablemente muchas murieron por la ingestion. La
rara y hermosa cacat(a negra de cola roja es un tipo de loro que por ley esta protegida en Australia, pero
hay coleccionistas que pagan hasta 25.000 dolares por un ejemplar.

Algunos animales salen por mar de puertos muy activos donde las autoridades no pueden revisar toda la
carga. La policia vigila a los contrabandistas mediante contactos locales y registrando mercados callejeros
donde se venden animales ilegalmente capturados. También investigan a vendedores de mascotas y
sitios web para descubrir a los compradores de animales. Los contrabandistas modernos venden todo
tipo de mercancia: las orquideas exdticas son arrancadas y sacadas de Nueva Zelanda y Peru; el carisimo
caviar se saca de Rusia; los tigres se matan ilegalmente y parte de su cuerpo se vende en Asia como
ingrediente de remedios tradicionales; se matan elefantes y rinocerontes por el marfil de sus colmillos y
para hacer medicinas,

Sub questions

Question Number : 141 Question Id : 87827020999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢ Cual es el problema central que plantea el texto?

1. El trafico de animales silvestres.

2. La extincion de especies exoticas por su trafico desmedido.
3. El uso de animales para el contrabando de cocaina.

4. Los animales raros pueden sobrevivir el contrabando

Options :

87827083101. 1
87827083102. 2
87827083103. 3

87827083104. 4

Question Number : 142 Question Id : 87827021000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Segun el texto, ¢qué animales son cazados para extraer el marfil de sus colmillos?
1. Los leones y los rinocerontes.

2. Los elefantes y los tigres.

3. Los elefantes y los rinocerontes.

4. Los rinocerontes y los monos

Options :

87827083105. 1
87827083106. 2
87827083107. 3

87827083108. 4

Question Number : 143 Question Id : 87827021001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



En el parrafo 1, équé opcion puede sustituir a la frase de contrabando?
1. llegalmente

2. Legalmente

3. Clandestinamente

4. Directamente
Options:
87827083109. 1
87827083110. 2
87827083111.3

87827083112.4

Question Number : 144 Question Id : 87827021002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cual de las siguientes opciones es mas adecuada en contexto del texto?

1. Especies raras son las que dan maximas ganancias en el mercado ilegal.

2.1as ONG's han tomado medidas para prevenir y contrarrestar el trafico de fauna silvestre.

3.Los contrabandistas utilizan distintos mecanismos para transportar drogas, escondidas en los tigres,
4. Las acciones gubernamentales controlan el trafico de animales salvajes.

Options:

87827083113. 1
87827083114. 2
87827083115.3
87827083116. 4

Question Number : 145 Question Id : 87827021003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Cual de las siguientes opciones es mas adecuada en contexto del texto?

1. Importancia de los recursos naturales para la supervivencia del ser humano.

2. Factores que fomentan el trafico de animales y plantas exdticas.

3. Clasificacion de zonas geograficas con mayor indice de trafico de fauna silvestre
4. Destacar las actividades ilegales del mercado global.

Options :
87827083117. 1
87827083118. 2

87827083119. 3

87827083120. 4

Question Id : 87827020998 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Trafico de fauna silvestre

Leonora Esquivel Frias

La fauna silvestre es ya, en ganancias, |a tercera mercancia con la que se trafica, después de las drogas y
las armas. £l Worlwide Fund for Nature calcula que las bandas podrian estar ganando la asombrosa
cantidad de 20.000 millones de ddlares al afio por llevar de contrabando animales vivos y plantas
exoticas a coleccionistas sin escrapulos. A los criminales no les preocupa provocar la extincion de
especies, ni que éstas sufran terriblemente durante el traslado.

Hasta 11 millones de animales se trafican cada afio en America del Sur, sobre todo a Estados Unidos,
donde se venden ilegalmente a coleccionistas por internet o a través de intermediarios corruptos,
Muchos animales silvestres se ven amenazados por los traficantes, como monos, loros y serpientes. Se
calcula que solo 1 de cada 10 mil animales capturados para ser contrabandeados sobrevive en el viaje y
se convierte en exdtica mascota,

Los animales raros que sobreviven al contrabando hacen ganar mas a los criminales que el trafico de
drogas. Una guacamaya azul del Amazonas se vende por 25.000 dolares, y un mono titi, en peligro de
extincion, por 20.000. Hay bandas que combinan ambos traficos y esconden droga en el cuerpo de los
animales. Una vez, a serpientes colombianas se les hizo ingerir bolsas de cocaina. A los aduaneros les
parecieron raros os bultos en las serpientes. Lamentablemente muchas murieron por la ingestion. La
rara y hermosa cacat(a negra de cola roja es un tipo de loro que por ley esta protegida en Australia, pero
hay coleccionistas que pagan hasta 25.000 dolares por un ejemplar.

Algunos animales salen por mar de puertos muy activos donde las autoridades no pueden revisar toda la
carga. La policia vigila a los contrabandistas mediante contactos locales y registrando mercados callejeros
donde se venden animales ilegalmente capturados. También investigan a vendedores de mascotas y
sitios web para descubrir a los compradores de animales. Los contrabandistas modernos venden todo
tipo de mercancia: las orquideas exdticas son arrancadas y sacadas de Nueva Zelanda y Peru; el carisimo
caviar se saca de Rusia; los tigres se matan ilegalmente y parte de su cuerpo se vende en Asia como
ingrediente de remedios tradicionales; se matan elefantes y rinocerontes por el marfil de sus colmillos y
para hacer medicinas,

Sub questions

Question Number : 141 Question Id : 87827020999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢ Cual es el problema central que plantea el texto?

1. El trafico de animales silvestres.

2. La extincion de especies exoticas por su trafico desmedido.
3. El uso de animales para el contrabando de cocaina.

4. Los animales raros pueden sobrevivir el contrabando

Options :

87827083101. 1
87827083102. 2
87827083103. 3

87827083104. 4

Question Number : 142 Question Id : 87827021000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Segun el texto, ¢qué animales son cazados para extraer el marfil de sus colmillos?
1. Los leones y los rinocerontes.

2. Los elefantes y los tigres.

3. Los elefantes y los rinocerontes.

4. Los rinocerontes y los monos

Options :

87827083105. 1
87827083106. 2
87827083107. 3

87827083108. 4

Question Number : 143 Question Id : 87827021001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



En el parrafo 1, équé opcion puede sustituir a la frase de contrabando?
1. llegalmente

2. Legalmente

3. Clandestinamente

4. Directamente
Options:
87827083109. 1
87827083110. 2
87827083111.3

87827083112.4

Question Number : 144 Question Id : 87827021002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¢ Cual de las siguientes opciones es mas adecuada en contexto del texto?

1. Especies raras son las que dan maximas ganancias en el mercado ilegal.

2.1as ONG's han tomado medidas para prevenir y contrarrestar el trafico de fauna silvestre.

3.Los contrabandistas utilizan distintos mecanismos para transportar drogas, escondidas en los tigres,
4. Las acciones gubernamentales controlan el trafico de animales salvajes.

Options:

87827083113. 1
87827083114. 2
87827083115.3
87827083116. 4

Question Number : 145 Question Id : 87827021003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



¢Cual de las siguientes opciones es mas adecuada en contexto del texto?

1. Importancia de los recursos naturales para la supervivencia del ser humano.

2. Factores que fomentan el trafico de animales y plantas exdticas.

3. Clasificacion de zonas geograficas con mayor indice de trafico de fauna silvestre
4. Destacar las actividades ilegales del mercado global.

Options :
87827083117. 1
87827083118. 2

87827083119. 3

87827083120. 4

Sub-Section Number : 3
Sub-Section Id : 878270934
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021004 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



¢Quién da la vez?

El sector de los comercios ha experimentado un cambio muy fuerte en los Gltimos afios, en especial por
la aparicion de los centros comerciales. La aparicion y generalizacion del sistema de apertura de tiendas
por franquicias ha llevado a comerciantes a mudarse a esos centros comerciales y ha uniformizado la
imagen de las tiendas del pais, Dada esta situacion, los establecimientos tradicionales buscan maneras
de mantener su clientela.

En Espafia hay unos 531 centros comerciales, y cada afio se abren 20 mas. Muchos de los locales que los
ocupan pertenecen a grandes cadenas de moda, ocio o restauracion, pero los hay también que tienen
como duefio a un antiguo comerciante tradicional que ha decidido dejar la tienda de la calle y mudarse
al centro comercial, bien con su propia firma o como franquiciado de algln grupo. El sistema de
franquicia permite a un comerciante vender productos de una marca reconocida manteniendo su
independencia comercial.

El presidente de |a Asociacion Espafiola de Centros Comerciales, explica las ventajas de estas areas para
los pequefios empresarios. “Son como una ciudad ideal: son seguros, estan limpios y ofrecen una amplia
oferta, también en ocio. Puede ir toda familia”. Pero el factor decisivo para instalarse en uno de estos
templos del consumo masivo es el publico: mil quinientos millones de personas ya en 2007.

La Direccion de Comercio Interior reconoce que los negocios de venta al publico independientes, los de
puerta de calle, tienen menos clientes. EI pequefio comercio busca en la proximidad y el trato personal el
gancho para sobrevivir. El “buenas, ¢que desea? de toda la vida. La principal valia del pequefio comercio
es su cercania el trato personalizado. Los consumidores lo quieren y lo necesitan. Deben coexistir
grandes y pequefios sin abusos de poder, porque son complementarios, no adversarios.

Las razones por las que los consumidores eligen una gran superficie son, segin el Centro de
Investigaciones Sociologicas, mejores precios, variedad de productos y horarios mas amplios. Cuando
eligen las tiendas de la calle es porque optan por la calidad de los articulos (que consideran mayor), Ia
cercania al domicilio y, sobre todo, porque buscan un trato mejor.

Con el fin de las grandes superficies no acaben con los tradicionales mercados, algunas comunidades
autonomas, como Madrid, han disefiado un Plan de Rehabilitacion y Mejora. El objetivo: reformar sus
instalaciones para que resulten comodas y atractivas y ayudar a adaptarse a las nuevas formas de venta.
“Tendran que modificar su forma de trabajar para ser competitivos”, explica el gerente de la Asociacién
Nacional de Medianos Empresarios de Comercio y Ocio. “Horarios mas amplios, aceptar tarjetas, ofrecer
servicio a domicilio y especializarse. Solo asi se atrae a ese publico joven que ya no va al mercado”.

Sub questions

Question Number : 146 Question Id : 87827021005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Segun el texto, en Espafia hay cada vez mas centros comerciales:
1. gracias, sobre todo, al surgimiento del sistema de franquicia.

2. pero las tiendas tradicionales mantienen el nimero de clientes.
3.y los pequenos comerciantes se resisten a cambiar.

4., debido a las mejoras realizadas por el gobierno.

Options :

87827083121. 1
87827083122. 2
87827083123.3

87827083124. 4

Question Number : 147 Question Id : 87827021006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

El texto dice que los centros comerciales:

1. estan dominados integramente por las franquicias.

2. poseen una combinacion de franquicias y pequefios comerciantes.
3. reunen a aquellas personas que abren una tienda por primera vez.
4. ya tomaron medidas para iniciar su modernizacion.

Options:

87827083125. 1
87827083126. 2
87827083127.3

87827083128. 4

Question Number : 148 Question Id : 87827021007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Segun el texto, la afluencia de publico a los centros comerciales:

1. determina que un comerciante quiera establecerse en ellos.

2. no es tan decisiva para instalarse en ellos como el ambiente familiar.
3. hace que estos sean mas seguros para los comerciantes.

4. no presta atencion a las tendencias modernas.

Options :

87827083129. 1
87827083130. 2
87827083131.3

87827083132. 4

Question Number : 149 Question Id : 87827021008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Para la Direccion de Comercio Interior, los comerciantes de tiendas a pie de calle:
1. deberian mejorar la manera de tratar al cliente.

2. acabaran siendo sustituidos por las grandes superficies.

3. pueden mantener a su clientela gracias al trato familiar.

4. insisten en el pago en efectivo

Options :

87827083133. 1
87827083134. 2
87827083135. 3

87827083136. 4

Question Number : 150 Question Id : 87827021009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



El texto afirma que los consumidores:

1. suelen ser fieles a una unica modalidad de comercio.

2. van a uno u otro tipo de comercio segun lo que busquen.
3. apuestan por la calidad de los pequefios comerciantes.
4. deben tomar medidas para iniciar su modernizacion,

Options :

87827083137. 1
87827083138. 2
87827083139. 3

87827083140. 4

Question Id : 87827021004 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



¢Quién da la vez?

El sector de los comercios ha experimentado un cambio muy fuerte en los Gltimos afios, en especial por
la aparicion de los centros comerciales. La aparicion y generalizacion del sistema de apertura de tiendas
por franquicias ha llevado a comerciantes a mudarse a esos centros comerciales y ha uniformizado la
imagen de las tiendas del pais, Dada esta situacion, los establecimientos tradicionales buscan maneras
de mantener su clientela.

En Espafia hay unos 531 centros comerciales, y cada afio se abren 20 mas. Muchos de los locales que los
ocupan pertenecen a grandes cadenas de moda, ocio o restauracion, pero los hay también que tienen
como duefio a un antiguo comerciante tradicional que ha decidido dejar la tienda de la calle y mudarse
al centro comercial, bien con su propia firma o como franquiciado de algln grupo. El sistema de
franquicia permite a un comerciante vender productos de una marca reconocida manteniendo su
independencia comercial.

El presidente de |a Asociacion Espafiola de Centros Comerciales, explica las ventajas de estas areas para
los pequefios empresarios. “Son como una ciudad ideal: son seguros, estan limpios y ofrecen una amplia
oferta, también en ocio. Puede ir toda familia”. Pero el factor decisivo para instalarse en uno de estos
templos del consumo masivo es el publico: mil quinientos millones de personas ya en 2007.

La Direccion de Comercio Interior reconoce que los negocios de venta al publico independientes, los de
puerta de calle, tienen menos clientes. EI pequefio comercio busca en la proximidad y el trato personal el
gancho para sobrevivir. El “buenas, ¢que desea? de toda la vida. La principal valia del pequefio comercio
es su cercania el trato personalizado. Los consumidores lo quieren y lo necesitan. Deben coexistir
grandes y pequefios sin abusos de poder, porque son complementarios, no adversarios.

Las razones por las que los consumidores eligen una gran superficie son, segin el Centro de
Investigaciones Sociologicas, mejores precios, variedad de productos y horarios mas amplios. Cuando
eligen las tiendas de la calle es porque optan por la calidad de los articulos (que consideran mayor), Ia
cercania al domicilio y, sobre todo, porque buscan un trato mejor.

Con el fin de las grandes superficies no acaben con los tradicionales mercados, algunas comunidades
autonomas, como Madrid, han disefiado un Plan de Rehabilitacion y Mejora. El objetivo: reformar sus
instalaciones para que resulten comodas y atractivas y ayudar a adaptarse a las nuevas formas de venta.
“Tendran que modificar su forma de trabajar para ser competitivos”, explica el gerente de la Asociacién
Nacional de Medianos Empresarios de Comercio y Ocio. “Horarios mas amplios, aceptar tarjetas, ofrecer
servicio a domicilio y especializarse. Solo asi se atrae a ese publico joven que ya no va al mercado”.

Sub questions

Question Number : 146 Question Id : 87827021005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Segun el texto, en Espafia hay cada vez mas centros comerciales:
1. gracias, sobre todo, al surgimiento del sistema de franquicia.

2. pero las tiendas tradicionales mantienen el nimero de clientes.
3.y los pequenos comerciantes se resisten a cambiar.

4., debido a las mejoras realizadas por el gobierno.

Options :

87827083121. 1
87827083122. 2
87827083123.3

87827083124. 4

Question Number : 147 Question Id : 87827021006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

El texto dice que los centros comerciales:

1. estan dominados integramente por las franquicias.

2. poseen una combinacion de franquicias y pequefios comerciantes.
3. reunen a aquellas personas que abren una tienda por primera vez.
4. ya tomaron medidas para iniciar su modernizacion.

Options:

87827083125. 1
87827083126. 2
87827083127.3

87827083128. 4

Question Number : 148 Question Id : 87827021007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Segun el texto, la afluencia de publico a los centros comerciales:

1. determina que un comerciante quiera establecerse en ellos.

2. no es tan decisiva para instalarse en ellos como el ambiente familiar.
3. hace que estos sean mas seguros para los comerciantes.

4. no presta atencion a las tendencias modernas.

Options :

87827083129. 1
87827083130. 2
87827083131.3

87827083132. 4

Question Number : 149 Question Id : 87827021008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Para la Direccion de Comercio Interior, los comerciantes de tiendas a pie de calle:
1. deberian mejorar la manera de tratar al cliente.

2. acabaran siendo sustituidos por las grandes superficies.

3. pueden mantener a su clientela gracias al trato familiar.

4. insisten en el pago en efectivo

Options :

87827083133. 1
87827083134. 2
87827083135. 3

87827083136. 4

Question Number : 150 Question Id : 87827021009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



El texto afirma que los consumidores:

1. suelen ser fieles a una unica modalidad de comercio.

2. van a uno u otro tipo de comercio segun lo que busquen.
3. apuestan por la calidad de los pequefios comerciantes.
4. deben tomar medidas para iniciar su modernizacion.

Options :

87827083137. 1
87827083138. 2
87827083139. 3
87827083140. 4



